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Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by ./ CLUECICINE 'q-\ﬂ'&I'UT (Qﬁﬁa?
TRAURARE) _ GRI=Uifdpd far a1 AT

1. Eysenck and Allport / KNENCY 3R 3fTeare
2. Galton and Kretchemer / 7TeC 3R HIR

3. Jung and Sheldon / ?EET Gﬁ? t-\3|@7—|
4. Murray and Morgan / W 3R A=

Correct Answer :-

« Murray and Morgan / W 3R A

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 39 U grafafecd® g1 7 9Td & 9301 Bl 3ifewd & Nifgd g9 &1 31 U1l
AU 5T AP B 3fipad & forg v Afére A-dsn~e o1 @ & fou
W11 fRrem A agfAe 3mus) ue RO Herdr 8 Siiv U S9H 34 arel
ey IU T B AT B U B AP dT 8 | ST dipd, Fufafaa &
¥ f5a &7 § g1 &1 "aifie JHTar g2

1. Oral presentation skills / IIRCEY mﬁf AN
2. Verbal concept formation/ MR TYRUT T3

3. Block design/ ilh ITS\YII%"I

4. Abstract thinking/ &ﬂ:ﬁ i)

Correct Answer :-



. Block design/ sl fSolTgH

3) Gender is determined while sex is determined. /f%i"T

Fudfuiasadweafedsm wsudfuiRasard

1. Socially, Culturally / gHITS ,Hi%ﬁ?l?ld’)

2. Biologically, Socially / oifd ,HIHIRﬂOb

3. Biologically, Environmentally /@W,@W
4. Culturally, Biologically /dipia® ,Sifaw

Correct Answer :-

. Culturally, Biologically /aipfd® ,Sifaw

4) A set of rules that helps us to derive meaning is known as: / o &1 U

e ot g4 ordf fFieTe o U #var g, e & U o 911 ST 8:
1. Sentences / AT

2. Phonemes / B

3. Words / Rleq

4. Semantics / D

Correct Answer :-

« Semantics / Fﬁﬂ%

5) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ IERIRY:T

3T TG TSP §, St STHATIYT T PG ST pal & Forad v
=T A IR DI SAreT a1 ge T a3 | frarst & ogarR, #1 dt
IUHETHSD &1 B2 Y YR IAsE & e 99701 82

1. Decenter/ ﬁw

2. Conservation/ G&UT

3. Logical reasoning/ SIEES] (ﬂTIr\\IIObﬂ JIS)

4. Reversibility/ o



Correct Answer :-

« Logical reasoning/ SIS (Q1Tlr\\ﬂ0bc1 IS

6) By three years, the child is able to speak /a9, g=n

e # Qe T gl

1. Syllables / &R

2. Grammatically complete words / HATHRIVID T q;UfW

3. Words / Rleq

4. Functionally complete words / HATHS =0 I q:UfW

Correct Answer :-

- Functionally complete words / PIHD &G EUTQ'IE

7) According to Abraham Maslow, is the summit of human motivation.

/ SSTEH Ul & S9N, HI-d YOI &} URTHTRT |
1. Safety need / {R&T CARCICEIET|

2. Love and belonging need / GGl Td T DI MIGDHdl
3. Need for Self-actualisation / MH-RIfg BT SMagH
4. Esteem need / T 1 SHTARIdD T

Correct Answer :-

« Need for Self-actualisation / W—I%l@ ARG O]

8) What type of memory processing involves focusing on the superficial
characteristics of an object? / fHd YHR Bt Wﬁf o1 ¥ fobdt a¥yq 4|
Hag! faiyar wR = Hfad w1 WA 72

1. Deep level processing / TTRT TR AT

2. Partial processing / 3HiTRIH TqTe

3. Elaborative processing / ﬁﬂﬁ BIRSIEE

4. Shallow level processing / SUTT TR JHTUT

Correct Answer :-



. Shallow level processing / 3YdT TR JATYT

9) What principle of learning is observed when a child does well in an exam

because he was promised a new phone? / 3fferTH Waﬁﬁwﬁmﬂﬁﬁmm
8 o1g g forelt udten o 3res1 ueRlH wedr g wife 39 Us A¢ Wi &1 aral
forar T U2

1. Negative reinforcement / THRIA® TG

2. Negative punishment / TP IRIHD qUs

3. Positive punishment / P RIHD qUs

4. Positive reinforcement / D RIHD g"IGICQ'H

Correct Answer :-

« Positive reinforcement / D RIHD E_I;'Idrﬂ"l

10) What is the unit of heredity? / Gﬂﬂa'm &t ng 182
1. Zygote / JTHAS
2. Gene / SIIH

3. Fertilized cell / FSfId BIfRThT
4. Chromosome / ﬁjﬂ@ﬂ

Correct Answer :-

. Gene/\_rﬂ:[

11) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / Udh d][ 3 HTH
BT ¢ TP R I8 HdT § dl IW didbale A RIpd fHaT AT
FTpele BT qUH B & [T B e BT SUFRT fovam S 82

1. Operant conditioner / fhaTIGd 3fIdedh
2. Punishing stimulus / g8 REALCD
3. Reinforcer / Udcidh

4. Neutral stimulus / dC®f 3 ‘E'?I U



Correct Answer :-

. Reinforcer / Udcldh

12) Trail and error method was put forth by: / Wdd dYT ﬁﬁ' fafyr 3?%7 GIR1

ufarfed &1 7s:
1. Thorndike / USSP

2. Kohler / W
3. Piaget / foars

4. Pavlov / W

Correct Answer :-

. Thorndike / USSP

13) A student who completes tasks to earn marks is motivated by:/ T BT 1

3 3iffd B & g Hrf T a1 8, 98 A IR giaT @
1. Knowing needs/ ARG H AT Dl ST

2. Intrinsic factors/ 3TdNP HRP
3. Extrinsic factors/ Eﬂ?ﬂ DhRh
4. Mastery goals/ HERd A&

Correct Answer :-

« Extrinsic factors/ a'lgﬁ DRh

14) Through classical conditioning, a neutral stimulus becomes a/an

RrRufaf¥d ye T (FRied SSI=IfT) & a1eay 4, wamﬂ——raefrw

TS CERuIGIES

1. Unconditioned Response / &Hﬂ%ﬁ‘ﬁ[ &fﬂm

2. Unconditioned stimulus / 3P fod SE1Ub

3. Conditioned stimulus / U] SIRCEARES

4. Conditioned Response / U@ dll Sfchal

Correct Answer :-



« Conditioned stimulus / HIJP SIRCEAREE

15) A continuous loud noise is avoided by closing the door. This is an example of

./ AT P §¢ P WGR M aTell oSt TaTS | 91 ST ¢ | 98
&1 U SeTeXU 5|

1. Negative reinforcement / TP RIHD Y- Sq

2. Negative punishment / TPRIHD qUs

3. Positive punishment / YPRIHP qUS

4. Positive reinforcement / P RIHD Y- Sq

Correct Answer :-

« Negative reinforcement / TPRIHD Y- Sq

16) Several tissues coordinate to give rise to a system. This is known as ./

PS D, TP YUITell Bl oT-H o1 P [ JHag dad 21 33 U H
ST ST 2 |

1. Continuity / IEEGEG]

2. Integration / WUT
3. Specificity / faRivar

4. Differentiation / %ﬂa‘rr

Correct Answer :-

. Integration / WUT

17) Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / PI-IT Rrgia SRTSIh I, Acas
3R SAfeear vd SMe-ITTe+ Rigidl gRT Wiel ¢ Rigidl & tidpd Hdr
87

1. Cognitivism / G3TTHD

2. Connectivism / GIISATG

3. Behaviourism / oUdglRdlg



4, Humanism / HIHddIdIq

Correct Answer :-

. Connectivism / W\_SFIH'IT.‘Z

18) Which of the following is not a teaching skill in inclusive education? /

frafafea o & o= arash Rren o v Rreor iz 78 82
1. Formative / FHTONTE®

2. Achievement / ST

3. Summative / ANTTHD

4. Performance / UG

Correct Answer :-

. Formative / ﬁw

19) Which of the following types of parenting is least likely to benefit a child’s

development? / FFafafed ¥ 9 f59 UeR & Traq-uivor 9 92 & e o
TTH IR BT HHTGAT Had $H 82

1. Permissive / &l?pﬂw

2. Uninvolved / 3&G (UGS FU T = S[ST §3T)

3. Authoritarian / ﬂ?ﬂa'l—qp[
4. Authoritative / 3MYRTRD

Correct Answer :-

. Uninvolved / &g (UTGATHS FU Y - ST §3M)

20) Which of the following steps should be taken in order to develop creativity

in students? / BT A YTHB AT fapRId #34 & fou Fafafaa a1
AT HSH IS ST I1gE?

1. The teacher has to give freedom to respond. / fRrerd @1 gfafbar ¢ & forg
LSRERINCEICIHY



2. The teacher should deliver lectures on the importance of creativity. / Rr&rd P
IATHB AT & Hgd IR ARAM T A5

3. Students should be given opportunities to ask questions. / CECICIRES] qgﬁr &

NP ERSRSI Y

4. Teacher himself should be creative. / QT&W CARCB RN RERIRED ‘6\I"il E|T%’QI

Correct Answer :-

« The teacher has to give freedom to respond. / fRrere o1 gfaforar &1 & forg
LERERICRICIITHY

21) Which is the final stage of Piaget’s theory of cognitive development? / firarst

& HIATHS fapra & Rigia #1 sifaw srawn a1 W 32
1. Formal operation stage / e Tfgrar Sraw

2. Pre-operational stage / Uj—ﬂmm SHAWT

3. Concrete operation stage / Iljf TichaT SATRAT

4. Sensorimotor stage / Jad! U= 3fayT

Correct Answer :-

« Formal operation stage / oaTiRes Tfdrar g

22) Different parts of the body have / IR & fafux %?R‘ﬁ' s | E'Fﬂ %:

1. Sporadic development / feseqe faswT a1 Hel-do! f[dw

2. Uniform development / THIT faer g
3. Different rate of development / faerg & fafta @®
4. No development / ﬁ‘s‘ famrg '_'|_6°f

Correct Answer :-

. Different rate of development / T & fafla av

23) CANCELLED

"My test results show that | have an interest for sports but | do not have stamina
to play’; which of the following tests describes the above statement?/ 'eﬁ' qﬁ&I'UT



gfkom g=ifd 8 f got @el d S @ afew I oy W & fore gga=ifaa
T8 g fRgfefad & 9 919 I1 udenr SRIeT $U &1 9uid HdT 8?2

1. Aptitude Test/ 3{THGRT TRT&OT

2. Skill test/ DRI TRI&OT

3. Achievement test/ SUeTTsd TRI&[0T
4. Intelligence Test/ §f< URI&TT

Correct Answer :-

. Aptitude Test/ ST URI&T

24) CANCELLED

Children often blame themselves for parental conflict. What Piagetian principle

explains this belief? /ﬁWW—W%W@W%W@@W
A 3 | st Risia 3 fayra &6t s saren sran 82

1. Egocentrism / @y
2. A-not-B error / Q—:Iﬁ—ﬁﬁ ﬁ%
3. Conservation / FR&UT

4. Animism / ﬂafaana

Correct Answer :-
« Egocentrism / e

25) CANCELLED

During middle childhood, when faced with failure, what meaning would
children attach to their experience? / H ddU- & aTFl', ofd B AdT DhT
HTHAT BT IS 8, df 9= 31U+ SgHT | T JHFA?

1. Shying away from activities in which they are likely to succeed. / Tpral Qﬁf

Tfafafaa § gR I8 & S8 3% T g1 &1 U 8l

2. Conclude that trying new things is better. / g BERETECH '_'Féc ISl BT HIRI]
B IEAR B |

3. Conclude that failure is an indication of their incompetence, not a condition that

can be modified by learning or practicing. / Ug frpy FaTe fo s/



31| &N T Hobd B, - Tob T fRUFT § For HTRTH D= AT 31 4 U
Tenfag et fpan ST gpar g |

4. Frustration and becoming more pessimistic about their abilities. / P 3T 3R 3+
gaarell & day H i FRImare! g1 9id g

Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / U Py M&TaT & Swadn
DT ST BT Habdl g, A fos Ut UM B Tordy iR & a1 3199 =
TR et fomar < whar B

26) CANCELLED

According to Jean Piaget, the process which involves changing our existing

schemas in the light of new informationis knownas . Fﬁ‘l s &
IUR, Wmmﬁam%mﬁmﬁwwﬂmaﬁ
SCoTT AT 2 & 9 | ST W91 3

1. Equilibration / qT&]

2. Assimilation / 3{THITAD U
3. Organization/ T16

4. Accommodation / 3TdTH

Correct Answer :-

« Accommodation / 3TdT¥H
27) CANCELLED

If 20 dots are put along a straight line or curve, we see them together ignoring the gap
between them. This follows which of Gestalt’s principle of perceptual organization? /

203 HI T AR AT Tp IS ATY-ATY IWT ATl 3 3N 59 37 aH & 3R &)
ST H THATY W & | U8 AT & SATURITHAP W6+ & 5 Rigia &1
SERUT T 872

1. Law of continuity / fFRaxar &1 fAaa
2. Law of proximity / Apedr &1 faw
3. Law of closure /Wﬁﬁ'&l—q

4. Law of similarity / eLgdl BT Ha9



Correct Answer :-

. Law of continuity / fFRaRar &1 fAaw

28) Teachers need to the needs of diverse group of student. / Rrere HI oEl &
fafay wg ot smaza@marsit &t Bt AT B

1. Take care of / = TG
2. Orchestrate /thTrFITEFI'I%[
3. Handle / 880 B

4. Deal with / THSIAT B

Correct Answer :-

« Orchestrate /ﬁlW GEIC]

29) Which of the following is most crucial for children to learn to live in a

society? / fFufafaa & @ 19 =i & v 991 & 384 & forw da &
oY Hgeayuf 82

1. To work on individual tasks / ST BT U HTH BHIAT
2. To work collaboratively / WQWW

3. To work for rewards /W%WWW

4. To work in isolation / QObid T HTH BT

Correct Answer :-

+ To work collaboratively / {-ISCI\I‘I @[ D [H hR]

30) Which of the following can help the child to overcome failure in school? /
fFafafea § @ o19-a1 9= & faemay § sRiwadar o gy &3 § 7gg H
Pl 8?2

1. Asking them to Focus on next assessment / 35 3T i R &= dhigd HA
DI Bl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdT |

31T AT WR Ok 31 & forw I ARG &1 SR Tienfed ST
3. Giving them some free time for leisure / 3% 3[IHTY b ﬁm P QTdl 9H9g %:IT




4. Changing their section/Class / KRG STTHIT/ D& CASEI

Correct Answer :-

- Motivating and encouraging them to emphasize on efforts over ability / &HdI |

31 T TR SR 39 & forw 3= URd o1 3R Uieanfed o=

Topic:- General Hindi (L1GH)

1) 33 fFam ait, 3o forar= o, sga R smu &
NV AT F
TRt MU E
STAH WR 91 3@
TR I@ A, SR I@ Al
T4 T3 § SHS-YAS X
HTA I qfb @
AR TTon H A Y
YR AYE

TE T AP 31§

T AR, ad RaTs
& forg, srvet Y

forg, wel @ werwv org

v 3 vt rgH, A,

RER I

IS ATet PIet AR

AT PR TRO-TRS X

3e PRl & Hia 9reR

TESN T RA R

50 Qa ¥, sitafi

Hovd g

IUYed TEi &1 Ugh: 1 Y& oM 91d U= $T S« 9a13¢ |

W=A: PO & 8 T oIT A8 3R U ¥ UaTHTd WeIH &Y S YIHRIT?
1. [ &1 get
2. T H §Igd



3. &g T WBR

4. R fora
Correct Answer :-

. A H a1ed

2) 3o frar 3, 33 fam o, aga Rk e &
NV AT S
IRt MU g
STAH WR 41 3@
TR I@ A, I I@al
T 7 § IHS-YHS B
FTA 914 aP @ at
A UTon A Y
YA A E

TE T AP 31§

T AR, ad RaTs
& forg, srpat Y

forg, wel @ warwe org

R 3 R wTE, I,

AW MY E

IS 1A TS TAR

AT BR TRA-TRS H

3e PerRl Ft W e

TEIN T RA R

59 Qa #, sitaftr

Hovde

ST UL P UgHR 1 IR WM a1 U= BT @R ga1sy|

U: TUR-SR a1 ff <@ Tl @ w1 @ F RR A g
1. TR-3{TH
2. SRT-f
3. STEAM



4, Wd-UYR

Correct Answer :-

3) 33 fHam 3, 33 fam o, aea R e &
VRN A S
arft 3 e &
STHAT W T 3@
TR IG A, W@ al
HTA 19 afb @
A wot & WA Y
TLRM AT

TE T AP 3§
T AR, Had RaTg
& g, s Y

forg, wel @ werwe org

53 & weft urg, 3,
R

IS a1 BT TAUR
ATI-ATd PR TIRG-TRS HY
3¢ PRI @t Ald TS
GEIN T RAR

fou @a ¥, sirafirei
Lk sk

ST YR B UgHh A1 T WM 9Tel WA BT S@ 9a1gv]

%mzmﬁi@?ﬁ%waﬁmwﬁsﬁmeﬁaﬁ%}ﬁwﬁmmwﬁﬁmﬁ

1. gdTgI BT
2. gt T
3. 9l &I



4. IR BT

Correct Answer :-

4) o A i, 3o far o, area R smg €
WA S
areft 3 e

ST HR 71 &
TR IG A, W@ al
BTA 91 a1 3@ at
A wot & WA Y
TLRM AT

TE T AP 3§
T AR, Had RaTg
N g, erpar Y

forg, wel @ werwe org

53 & weft urg, 3,
R

IS a1 BT TAUR
ATI-ATd PR TIRG-TRS HY
3¢ PRI @t Ald TS
GEIN T RAR

fou @a ¥, sirafirei
Lk sk

ST IR B UgHh A1 T W 91ed WA BT @ 9a1g¢]

U 9 oId 39 1Y gui AT oY fear=l & o1 dgag™ aii?
1. 9T
2. 3T

3.



4. 9d

Correct Answer :-

5) 35 fpar i, 35 frar oft, area R amy §
VRN A S
arft 3 e &
STHAT W T ¢@
TR IG A, W@ al
HTA 19 afb @
A wot & WA Y
TLRM AT

TE T AP 3§
T AR, Had RaTg
& g, s Y

forg, wel @ werwe org

e 9 Wi urg, g,
R W IMTE

IS a1 BT TR
ATI-ATd PR TIRG-TRS HY
3 BERI 3t did e
GEIN T RAR

50 @ ¥, siraferant
H ea &

ST YR B UgHh A1 T WM 9Tel WA BT S@ 9a1gv]

U= STl A fHa! Aihg d1er 3 7@l 82
1. TH Bt

2. gaT &l

3. QY &1



4. PERI Bl

Correct Answer :-

. BRI &I

6) 35 fpar i, 35 frar o, area AR amu &
VRN A S
areft 3 e
STHAT W T 3@
TR IG A, W@ al
FTA 914 dP & at
A% TN H WA Y
TLRM AT

TG HART AP TS
T AR, Had RaTg
& g, s Y

forg, wel @ werwe org

e 9 Wi urg, g,
R W IMTE

IS a1 BT TR
ATI-ATd PR TIRG-TRS HY
3 BERI 3t did e
GEIN T RAR

50 @ ¥, siraferant
H ea &

ST YR B UgHh A1 T WM 9Tel WA BT S@ 9a1gv]

TR Ied Wal | -9 VA T8 72
1. fhde
2. gl
3. el



4. frafereit

Correct Answer :-

. SffaferEc

7) 36 fbar i, 35 frar o, area R amg §
VRN A S
areft 3 e
STHAT W T 3@
TR IG A, W@ al
FTA 914 dP & at
A yront F A Y
RN AT

TE T AP 3§
T AR, ad RaTg
& g, s R

forg, wel @ werwe org

e 9 Wi urg, g,
R W IMTE

IS a1 BT TR
ATI-ATd PR TIRG-TRS HY
3e BERI 3t did e
TEIN T WA

50 @ ¥, sifaferant
H ea §

ST IR B UgHh A1 T W 91ed WA BT @ 9a1g¢]

US: U B! Ghadl U= fha=l ST 371 id UR @7 gidT 82
1. $Id W BT TA
2. $dd S BT bl

3. I0gad it



4. Had R Hfa=

Correct Answer :-

. ITga Tt

8) I3 fbar ait, 35 frar o), area R ame &
VRN A S
areft 3 e
STHAT W T 3@
TR IG A, W@ al
HTA 19 afb @
A yront F A Y
TLRM AT

TE T AP 3§
T AR, Had RaTg
& g, s Y

forg, wel @ werwe org

e 9 Wi urg, g,
R W IMTE

IS a1 BT TR
ATI-ATd PR TIRG-TRS HY
3 BERI 3t did e
GEIN T RAR

50 @ ¥, siraferant
H ea &

ST YR B UgHh A1 T WM 9Tel WA BT S@ 9a1gv]

w=A: fRaTe orF 3 wHd & AU il ¢ T IET 82
1. I 33 IRV g &

2. TIPS TGN

3. Tl B TS B! DI &



4. pOd §t fear g

Correct Answer :-

. i 3B TN G ©
9) 35 b ait, 33 frar o), area R eme §
VRN A S
areft 3 e
STHAT W T 3@
TR IG A, W@ al
FTA 914 dP & at

A% TN H WA Y

TLRM AT

TG HART AP TS

T AR, Had RaTg

& g, s R

forg, wel @ werwe org

e 9 Wi urg, g,
R W IMTE

IS a1 BT TR
ATI-ATd PR TIRG-TRS HY
3 BERI 3t did e
GEIN T RAR

50 @ ¥, sifaferant
H ea §

S UL P UgHR 1 IR WM 9T U= BT @R ga1s¢|

U 39 Hfdar # fram @ frw a1d &1 eng frar mar @2
1. S I BT

2. JIGITH Bl

3. 9IS Bl

4. ATA HA DI



Correct Answer :-

« ST &1

10) 33 fHam oit, 3o fram o, sTega R ey &
NN A S
arft a e §
AT WR T 3
SR IG A, W@ al
T4 33 § SHS-gHS Y
P 919 af1P g@
A yront F A Y
TLRM AT

TE T AP 31§

T AR, aa A
R forg, srpa R

forg, welf @ Ta®e g

v & W urg, 1,
R

IS a1 BT AU
ATI-ATd PR TRG-TRS HY
3¢ PRI @i Jid TS
TEIN T RA R

U @a ¥, sirafir
LI ECE]

ST U=IIRI $ Ugdh -12 IR WM 91dl U T Sk 9a13¢|

UL: HRA 9 I YT ¥ H AGH BT 5H UR T80T UHTE USdT 82
1. 48D R

2. ASHTRI TR

3. WHR W

4. Ragi R

Correct Answer :-



11) 3o foar oit, 3o frar o, sTga iR emu &
VRN A S
areft 3 e §
STHAT W T ¢@
TR IG A, W@ al
FTA I afb @ @t
A woit & wRA Y
TLRM A

TE T AP 3§
T AR, ad RaTs
N g, erpar Y

fRrg, wel @ e org

e 9 Wi urg, g,
R W IMTE

IS AT BT TR
ATI-ATd PR IRG-TRS HY
3 BERI $t did e
TEIN T RAW

50 @ ¥, siraferan-t
H pea §

ST UL P UgHR 1 IR WM 9T U= BT @R ga1s¢|
wA: frari & g3- 4R AraH &1 arht wfa = food se1 82
1. GRS B

2. S B

3. I Bl

4, STl Pl

Correct Answer :-

. STeel Bl



12) 33 fFar 3it, 3o fvar o, sga R smu &
NV AT S
arft 3 e
STH WR a1 3@
TR I@ A, W Il
HTA I a5 3@ at
AR TTon H WA Y
YA A E

TG HAT AP TS
W g, Mad Rarg
¥ ferg, ereet ¥

forg, wel @ e org

% 9 yedi urgH, 9,
dY R ST E

IS ATl BT TALR
ATI-ATd PR TRG-TRS HY
3e PR & Wi R
TEIW QAR

50 @a ¥, sifafiri
HHed

IUYT U Bl USHT -1 I 9 aTd U HT I« da1st|

w: fora & R o gRreTel fFa I & ot 82
1. W WY

2. 3w WA Y

3. 3B A 9

4, B WHR I

Correct Answer :-

. (D HIT Y



13) 30 [ 31, 3o fHur oft, d1ga fuR e &
VRN AT S
arft 3 e g
STRAHT R T ¢
TR I Y, SR @ al
T4 38 § SUS-gAS IR
FTA 919 aP ¢ dt
A% TN # WRA Y
LI A E

TE T AP 3§

T AR, Nad Rars
o frg, erdpat ov

forg, el & oy org

v 3 Wl g, 1,
AW AT E

I8 a1 BT AR
ATI-ATT PR TRO-TRS hR
3¢ PRI ®t Jid ATeX
@ IW T AW

50 Qa #, siraferan+t
H pea §

ST U= Bl UgHT -1 I 9 a1 U= HT S« da1s¢|

U= TR YR ad QRS fFaeT He=m aa 3ms?
1. fb it b1 78T

2. S1GE Ul UTgH &1

3. 9&f & TH FI

4, YT & HGH BT

Correct Answer :-

- TG U g T



14) 33 f&amr 8it, 33 far i, drge fir 3me @
VRN AT S
arft 3 e g
STRAHT R T ¢
TR IG Y, SR @Al
T4 38 § SUS-gAS IR
FTA 919 aP ¢ dt
A% TN # WRA Y
LI A E

TE T AP 3§

T AR, Nad Rars
o frg, erdpat ov

forg, el & oy org

v 3 Wl g, I,
AW AT E

I8 a1 BT AR
ATI-ATT PR TRO-TRS hR
3¢ PRI ®t Jid ATeX
@ IW T AW

50 Qa #, siraferan+t
H pea §

ST U Bl UgHT -1 I 9 a1 U= HT I« da1s¢|

W=: 4 1 $g 81 @ 3@ & R geR e frait @7 & 7 &2 smdte

1. G
2. fhaM-ag

3. RATS
4. gqferal

Correct Answer :-



15) 30 [ 31, 36 fHur oft, d1ga fuR U &
VRN AT S
arft 3 e g
SITRAAT R T ¢
TR I Y, SR @ al
T4 38 § SHS-gHS B
FTA 919 aP ¢ dt
A% TN 7 WRA Y
LI A E

TE T AP 3§

T AR, Nad Rars
o frg, erdpar ¥

forg, el & oy org

v 3 Wl g, 1,
AW AT E

I8 a1 BT AR
AT PR TR-TRS B
3¢ PRI ®t Jid ATeX
@ IW T WA TR

50 Qa #, siraferan+t
H ea §

ST U= Bl UgHT -1 I 9 a1 U= HT S« da1s¢|

TH: 99 A ¥ g1 3 o e & g fraat srew goema gt @2
1. faRgT T @t

2. S ARA &I

3. T U Tsh Bl

4. AER T &1

Correct Answer :-

« UH BUd AP DI



16) e S WU $ Fed @ wel uqd i foransii & $fY 1 #ig = 181 g1 31 519 WisH &1
ITeH Fa-1T S g1 @ foh S99 3= nfdes nifafafer &t wwd= e @ & <rewi &1 fawrT gam
TR TURMT A F3 MAfARMA &1 Fx g3 Hed §; O Aeifae T, RS oF, I 49, anfife dwid
3R difge wfafafiat| shenfie wifa & &3 grre a1g Wt siftrei=r ufdedt S=r wrfior ufvasr are € 2
foe A g & Sitenfie el ® ven arat siftrasi=r @it umeior &3 A uerad #d 3 &1 1750 3T 3T
370S 3R I & g At ° N TP ufcRT de-T | Tgdl AT| Ae-T Uh 981 W 4T Sel P JA-4SAT 675,000 |
1810 ¥ 1880 & dI9 T B 10 ARI T IEHY 40 ARH Bl 7Ts; HAAT IR 1 gl T3 | &g § DIS g3t
Paesl Tl At TP FTaN[g Ao UATd B aTal B YT HiTd gaiT HedT AT| deT & SIHATS | ISR
F HTE! AR Y| P ATl AN Bt HUST, 9d, ABSL, BiraR, Fed, Fonfare, fifer six afiem
s’gﬁ?ﬁ%ﬁmﬁwml

uYH Ay g (1914-1919) & SR T H FR iR sAfRedd IS BT 9471 Y g1 39 e A 3
PREM! DI YT 5§31 TS G0 Sd1 & 916, de A AR & o TERI 1 TP {818 37 98 FR@HI
T HiS[g YT We XMER & ATHR A Ferast & a1y I8l 1y H 1ff Seiasl g3 | U UM & IR 1870
F P H 39 ¥ H T 20,000 mﬁwﬁalﬁlﬂ?ﬁﬁaﬁﬁwqﬁﬁawmaﬂﬁﬁﬁﬁ%
e RTY FI1 1 A1 P35 9R gg i a1 o1 P [t FRE™ A 7 399 R 14 $1 B I917 (uRTY
PP A} HATS 81 Wl M| g b IR B afgensi 3t A weht 75 1 Wi afgarst «F so=m or T
F & R IR & W A b1 R HIA B TR ST ST B3 Afgarsit 3 gax St & R o= R
formd wR 31 Y foram| +€ T T $Y 39 AT 917 §RT $H TR a1 STH U= &1 f&ar Tam| 39S 91
1870 ¥ HIIHI TIHI TFeE URT §31T 3R 1902 A et Tae URT g3T1 39 HIHI 3t Hag I 98
gff¥a foran wan {6 B¢ = 3 FREHI § S 7 A1 US| Tial S 3 aTd STUATRydl & HROT e |
SATATH B TURT I 81 TS| 37 AN DI Baet g1 gHRITY DI P & ATaTd 1 Flae 781 fradt 4
TR Y (fravya & SieT™ wifere) = 1887 © Us W4 frar| 59 Wd & Haifa® dgd & 10 ARG @R TR
Y| 98 I U & de-1 Bl SISt BT a1 Hfa=rd ATl

SUYe TN B UGHR 2 I T YT BT Ik q13¢|
UY: 1870 & G H WG | HRIA! Ft v foa iz
1. 10000

2. 50000

3. 11000

4. 20,000

Correct Answer :-

« 20,000

17) Ve S W &I $gd & wiel uq@ il fharsit # $1 &1 #I R 78) g1 1 19 WieH &1
ITeA Fa-TT S g1 & fh I3 o= snfdfes nifafafRr &Y wwd= e o & <rewl &1 fawry gam
TR TURM A T3 MATARAT BT Hg AT Hd 8; A AT-dD T, YRS aFf, ST 44, enfife I
3R ifge nfafafirat) shenfire Hifa F &3 o T1e o siftreier ufdd 3= arftor ufawr are € A1

e ¥ 3% & SNeNfire el ® v a1t SfreT=r @t Ao g |/ UarE @ 1 A1 1750 3T 3Ta
s 3R A & &¥ 71 § A U AAfRT s | 341 UTI 6e+ TP IST W UT Sl &1 S-S 675,000 A
1810 ¥ 1880 & §IT T B 10 AT I IEHY 40 ARH Bl Ts; HAAT IR T &l T3 | &g § PIS I3t
Faedt T8 N1 3P Trav[g T TATAT HIA ATl B YT HISTe §3HT HT UT| T & SIhars A AR
F BTH! AR A1 P ATl AN B HUST, A, B, PR, Aed, geifarer, fifer ik afe
segie | Wt e firerar T

YT f3Y 5 (1914-1919) & ERM del & BR AR sAfdedd SIS BT T YT g7 3 AT H g8
PRAMI D AT §51 TS 9HY Sd+ & q16, T W AR & Fd TR BT U 818 57 98 SRAHI
o HIN[G UT| Te XMER & MHR A Felast & 1Y gl Ry # +ff 9¢iad) 351 Ueh W & 3G9R 1870
¥ P H 39 X A T 20,000 mzﬁmﬁﬁlﬁm?ﬁﬁaﬁﬁwqﬁﬁmwmﬁﬁﬁﬁﬁ%
T RTY H T A1 $3 IR g8 W ghar A1 7P fFeft sREm o 0 399 W ST 1 B Io STuRTY
PP AN PATS 81 wTdl A | & b R B3 Afgenail Pt Tt =eht 7 | Wi Afganai &) 3ru=m Tor TR



B & o RT & R & AT Ta- HIA B ASIGR §H1 USTI FS Afgarsii 7 goR $f & i s w®
ford wR 31 Y foram| +E T T $Y 39 AT 91U gRT $H IR a1 STH U= & f&ar Tam| 39S 91
1870 ¥ HIRR! TIHIH Tae URT §3iT 3R 1902 A el Tae U §3iT1 371 ST 3t Heg A T8
gff¥a foran wan % B¢ a=f 3 FREI 8 S 7 A1 US| Tial S 3 aTd STUaTRdl & HROT e |
SATATH B THRT I §1 TS| F7 AN DI Baet g1 gHRITY D P A ATaTd B Flaem 781 fradt 4
TR Y (Fravy@ & SieT™ wifere) = 1887 © Us W4 frar| 59 Wd & HaIfa® dgd | 10 TG aFT TR
Y| Tg IH THT & TG DI MATS BT 9 Ufer=rd ATl

ST TR $ UgH - U T U= $T I«ik qarsy|

U SN wifd & o3 o a1g ot siflreizr ufindt dxr frw oA & A2
1. HETS

2. UTHITT

3. TRIY

4, HEMTRIT

Correct Answer :-

18) e 3H W B $ed ¢ oiel uqE i fpareii § $ &1 H1E W= 78 g1 1 519 Hiei &1
IedTe 31 3HfU® g @ fr S99 o=y e nifafafiral o1 wad= frem @ af <1l &1 fawra gam
TR TURM A F3 MATARMAT BT Hg AT HRd 8; O SIS IT, YRS o, ST 44, enfife I
aﬁwﬁ@mnﬁ%ﬁmwﬁﬁ%wﬁr%w{mmﬁﬁwﬂ%ﬁ%ﬂmmmﬁﬁm
T o 3% & SNeNfire el ® v a1t Srfrei=r @it ardior g5 ¥ UarE @ S A1 1750 3T STa
TS 3R 90 P &¥ A1 § A TP AfRT wig A Igd1 UT| e UP IST W UT 91 &1 S-_E 675,000 A1
1810 ¥ 1880 & ¥IT €T P! 10 AT | TeHR 40 ATH 81 TS; WA IR I 81 TS | Tg & PIg 9
Faedt T8t M| 3P TTas[g T TATaT HI ATal BT YT HISTe §3HT HT UT| T & SIHars A AR
F BTH! AR A1 Y ATl AN Bl HUST, A, dhS, PR, Aed, geifarar, fifer ik afem
segde # Wt o firerar T

YW {4y 95 (1914-1919) F SR ded ¥ FR R safdedd IATEl ST 99471 % 3T 34 deT A g8
PRE! B YT §3 | $© GHT S & d1g, e T AR & $d THR] BT TP (818 57 98 RG]
o Hiv[g YT e XMER & ATPR A Fetas! & a1y Tgl 1y # 1ff geiadl g5 1 U 3 & 3R 1870
& TP W 3 X H AU 20,000 TRt TEd A1 o A i Ao 1Y e urar 31 399 | o5 |
T URTY R T A1 F5 IR g8 N giar o1 o [Feft FREM & 0 3a9 IR S0 I B 919 U1
P g} AT 81 et 2| I F IR F3 afgarsit 3t A aeft 751 Wht afgarsit H o= TR TR
B & R Rl & R A DT SRa- H B TGy g1 USTI H3 Afeansit 3 gk sl & Rl s W
I wR 3T 3 T w% e g @) 39S AT 919 gRI $H WIR a1 STH 9= a9 ar wam| 379 91g
1870 T HIITE! TIHI TFe URT §31T 3R 1902 H et Tae URT 3T 31 S| Dt Hag I 98
gffea far mar fF B 9= & FRTM & ST 7 HE1 US| 6l A M A SMuaryay & HRuT e A
START B THET IUF 81 T3 | 31 A 31 Bt AT gHRITT B aRE J S 3t gfaem T8 frerht <&t
TTed 99 (Rravye & ST wifere) A 1887 ® Us Id fhan| 39 W4 & Harfa® ded § 10 a9 @R e
Y| Ug 3 AHG & e Bl ATETSE BT 41 Wia=ra ATl

I TR P UgH? 12 IR T U= $T Ik ga1s¢|

WI: T 1750 3ATd 3ATd S04SR a & fba- afed dg T gd A2
1.THHYTD

2. THAI TS

. ANAATH



4. IRHA I TH

Correct Answer :-

. NAIATH

19) TER I W B! $ed ¢ oiel uqd e fharet § $ 1 $1g R e ST 21 STa His &1
ITeA Fa-TT S g1 @ fh I3 o= snffes nifafaftr &Y wwd= e o & <resl @1 fawry gam
TR TURM A T3 MATARMAT BT Hg AT Hd 8; O AST-dD TT, YRS o, ST 44, enfife I
3R difg® nfafaftrat| shenfie wifa & #3 grre a1g Wt siftreizr ufddt =r smfior ufvasy ara € 2

e o 3% & SNeNfire el ® v a1t Srfrei=r @Rt Ao g ¥ UarE @ 3 A1 1750 3T 3Ta
s 3R AT & &¥ Al § A Us AafRT s | 341 4TI e TP I8T WeR YT Sl &1 9=¥ET 675,000 A
1810 ¥ 1880 & §IT T B 10 AT I IEHY 40 ARG &l 7Ts; HAAT IR T &l T3 | eI § P13 a3t
Faedt T8 N1 3P Trav[g T TATT HIA aTal B YT HiSTe §3HT HRT UT| e & SIHars A AR
F BTH! AR A1 Y 3ATdT AN B HUST, S0, b, PR, Aed, geifarar, fifen ik afe
segde # Wt e firerar T

YT f3Y 5 (1914-1919) & ERM de & BR IR sAfdedd SIS BT T [T g7 39 A d g8
PRAMI D AT §51 TS 90T dd+ & 16, T W AR & Fd TR 1 U 818 571 98 HRAMI
o HIN[G UT| Te XER & MMPR A Felast & 1Y gl Ry # +ff 9¢iad) 351 Ueh W & 3G9R 1870
& TP W 37 X H AU 20,000 TRt TEd A1 o A i Ao 1Y fire urar 31 399 | o5 |
T URTY R Td A1 F3 IR g8 W giar o1 fp [Feft FREM & &0 3a9 IR S0 3 B 919 U1
PP AN PHATS 81 WTdl A | & b SR B Afgenail Pt At =eht 7 | Wi Afgenai &) 3ru=m Tor TR
P & o1 g & R | NPT TAT A DY AR §H1 USTI F Afansii 7 gaR $H & 1 o )
AT W 31 Y fhaT| o3 TRI9 Il &1 391 A 91U §RT HH WIR aTd ST W 0 {3971 1411 39S 918
1870 T HHTH! TIHI Tde URT §31T 3R 1902 H et Uae URT §3T1 31 ST 3t Hag I 98
gffea far T fF o1 T & FRTM & ST T HE1 US| 6l A M A MUyl & HRoT e A
STATRT B T I 81 T3 | 371 A 31 B} U1 IHRITT B aRE J S 3t Jfaem T8 frerht <&t
ITed g (RTaRy@ & wigTe |iferd) A 1887 ¥ U Id (11 39 9d & GaIad de- | 10 A1G @l TR
Y| gg 9 TG & WG DI ATETG BT o1 Hforsra ATl

UG TN ) TgHR A1 D T YA BT Ik IS
U: UYH fAygs & SR de-T | 1 9941 I gom?
1. Qrefohdl Td avelt

2. R Td 3afagsdd SdIG

3. Tal-a=G
4. S§ga SR Tl

Correct Answer :-

« HR TG Sdfaedhd IdG

20) MER 39 WM F Fed & el ugd e fparsit & $iy &1 Hi = 78 ghar 81 919 His= &1
IeTe 3T 3P g1 @ fr I o=y enfdfes nifafafRrat &1 wud= firem @ ot <1l &1 fawra gam
X FAN A F3 Mfafafir &1 Fg g Fd §; A} Ao F«T, URMEAS o, ST &0, enfife Twimd
3R difge wfafaftar| shenfie wifa & &3 grre a1g Wt siftreizr ufddt 3=r wmfior ufvasr ara € 2
o1 o 3 & Sienfire el W g+ ard ifie =T @t umfior &5 @ UarE $Rd S &1 1750 3Td ST
37AS 3R I & g At ° A TP afcd de-T | ¥gdl AT| Ao Uh 981 WX 4T el P =S 675,000 |
1810 ¥ 1880 & d1¥ T B 10 AT | IEHY 40 ARH &l T3; HAAd IR T &1 T3 | e H P13 I3t
Pt 78 1 3UF TTaS[g AT TATIH B 916l B G AT AT AT YT e F SIHATS A AR



F BTW! TR A1 TP AT AN B HUST, A, B, BT, Hed, Fonfrarar, fifén ik ke
g@?ﬁmmﬁmml

7YY fIY T (1914-1919) & SR de & ®R IR sAfdedd SIS BT T YT g1 3 AT H g8
PREM! D YA §51 TS G0 S & 16, Te T AR & Fd TR T TP {818 371 98 HREH]
o Hie[g UTI de- XMER & PR A Fetad! & 1Y TgT o1y F +ft ggiasl g3 1 Te S guH & 3ER 1870
& TP | 3 Y H T 20,000 mﬁwﬁﬂlﬁq?ﬁﬁaﬁﬁwaﬁﬁﬁmmmﬁﬁaﬁ@%
e IRTY FI1 1 A1 B3 9R gg i giar o1 P [t sRE™ A 7 d99 R 14 $1 B Io17 (uR1Y
TP A5 PHAT o1 o1l N1 & F IR F3 Al ot Aot geit 7% | T Afgarsii ST 3o=r [er T
F & R IR & W A b1 R $IA B TR ST ST B3 Afgarsit 3 gax Sl & R o= W
ford wR 31 Y foram| +E T T $t 399 AT 917 §RT $H TR a1 HTH U= 0 f&ar 7| 39 a1
1870 ¥ HIIH! TIHI I URT §31T 3R 1902 H Tt Tae URT g3T1 3 S| 3| Hag A 98
gifia far mar & 81 a= & FRE | STH T HIA1 US| Tl A 3 a1 MUl & HRUT ER A
SATATH B THRT I §1 TS| §7 AN DI Baet g1 gHRITY DI P A ATaTT B A 781 fAradt A
TR g4 (fRravy@ & SieT wifere) = 1887 ® Us Wd fhar| 59 9d & YaIfa® dgd | 10 AT 1T TR
Y| Ug 39 UG & Ted BI TGS BT 91 Fla=ra ATl

ST TR FY UGHR 1 T Y U= BT Ik Taqrsy |

U= f3e9 ¥ g & 3ienfires e A 36 ardt it i=r &Rt w8l | Uama H3d 3T 3|
1. ITHior &=

2. Uiy S

3. QUHART ¥

4, qa R ¥

Correct Answer :-

. T &

21) XMEX 39 WM FI Hgd & el g 3w foraraeit § $Y &1 #15 R 7Y g1a1 81 oIa Hio = &1

I ST 3HfU® g @ s S99 o= e nifafafRral o1 wad= farem @ ot <1l &1 fawra gam
TR TURMT A F3 MATARMAY BT Fg g3 R §; Y AoHIa® I, URMHAS o, S ¢4, enfife Iwmd
IR difg® nfafafirr| sienfire wifa & 53 a2 a1g +ft siftreizr afdEdt = yrftor afvasr ara &t A1
3= 7 3= F el e # T8 arat iftrer=r T unfior &5 / U $3% M ¢ 1750 3MTa 3
TS 3R T P &¥ A1 § A UP AfRT dig A IgdT 4TI e TP IST WER UT ST B! S-:ET 675,000 A1
1810 ¥ 1880 & §19 Tgd I 10 AT I IEHY 40 ARH &l 7Ts; HAAT IR T &l T3 | e § BIS a3t
Pael 71 At TP FTavg Ao UATd HIA aTal B GReT HTA g3 HdT ATI del & SIBATS | ISR
F BTW! THR A1 Y ATl AN B HUST, A, dHS, BATR, Aed, gonfrarar, fifén ik afem
SecHe ® Wt e firerar T

Y fIY T (1914-1919) ¥ SR de # ®R 3R sAfdedd SIS BT T4 I g1 3 AT H 8
PREM! B YA §3 | $O GHT a4 & 915, e T AR & $d TER] BT TP (818 57 98 RG]
T Hiv[g YT e XMER & ATHR A Fetas! & a1y ggl 1y H 1ff geiadl g5 | U UM & 3R 1870
& TP W 3 X H T 20,000 3Tl ¥Ed A1 o A ot Ao 1Y e urar 31 399 | #% |
HIe ARTY P oTd ¥ 3 IR g W gia1 U1 P frefl FREM & $H 3d9 W STH $I1 $1 IOl WRTY
PP JgaR BUTS 81 STl N1 G & IR B3 Afgarail Bt i<t It 7 | Wi Affansi S u=r ToR =R
B & o gRT & WRI A DT SRa- H B TG 4T USTI H3 Afeansit 3 gk Sl & R s &=
I wR 31 3% T +% e T B 39S AT 91 gRI $H WIR a1 STH 9= @0 a1 7411 39 918
1870 T HITE! TIHIH TFe URT §31T 3R 1902 H et Tae URT 3T 31 BT Dt Hag I 98
gffea fear T fF B T & FRTM] | T 7 HE1 US| 6l A M ard SMuaryay & HRoT e o
SATATH B FHRT IUT 81 TS| 37 AN D1 Braet g1 gHRITT B G J Smard B Fladr T8 fradt 4
ITed g (FRraRy@ & wIgTe Aiferd) A 1887 ¥ U Id {411 39 9d & Gl de- | 10 A1G Al TR
Y| Ug 39 AHG & e Bl ATETSE BT 91 Wia=ra ATl



ST TR P UgHR 12 IR T U= $T Sk ga1s¢|

WH: TR HR aradl 3t g7 HiTd HI--JT ER g3 BT Y12
1. forea

2. Ufae’

3. Sftfed

4. deA

Correct Answer :-

22) ER 39 WM $ Hgd ¢ el ugd e fparseit § $fY &1 $i = 78 ghar 81 519 Hie= &1
IeTe 39T S g1 @ fr Su o=y enfdfes nifafafRrat o1 Jud= firem @ ot =1l &1 fawra gam
X FAT | F3 Mfafaftra) &1 Fg g Fd §; A} Ao F«T, URMEAS &, S &0, enfife dwird
aﬁ?ﬁ@ﬁnﬁﬁfﬁmaﬁ@%mﬁ%ﬁmmmeﬁwmwmmaﬁam
o1 © 3 & Sienfire el W I8+ ard ifie =T @t umfior &5 @ Uare $vd S &1 1750 3MTd ST
37AS 3R I & g At ° N TP ufcd de-T | ¥gdl AT| Ao Uh 981 e 4T el Bt - 675,000 2t |
1810 ¥ 1880 & ¥I¥ T B 10 ARI | IEH 40 ATH &l T3; HAAT °R T &1 T3 | e A P13 I3t
Pt 78 1 3UF TTaS[g AT TATIH B 916l B G AT AT AT YT e F SIHATS A AR
F HTE! AR Y| TP ATl AN Bt HUST, 9d, ABSt, BiraR, Aed, Foif-are, fifer six afem
g@?ﬁmmﬁwml

7Y fIY 5 (1914-1919) & SR de & ®R IR safdcdd IMIGH BT T I 3T 3 W7 H g9
PREM! Dt YA §51 TS G0 S & 16, Ted T AR & $d TR T TP {818 371 98 FRGH]
o vl YT e MMeR & ATPR A Felas! & a1y Tgl 1y H off geiad) g5 1 U U & 3R 1870
& TP T T X | TIHT 20,000 JRIH Igd | o AR Y Ao 8T Firer urar 31 396 A 5 B
e WRTY FI1 1 A1 P35 aR gg i giar U1 P {5t FREM A 7 d99 R 14 $1 B Io17 (1Y
PP A} PATS 81 Wl A | g5 b IR B afgensit Ft e aeht 75 1 Wi afgarst & so=m or T
F & R IR & WY A b1 R HIA B TR ST ST B3 Afgarsit 3 gax sl & R o= W
ford wR 31 3 foram| +E e Tl $F S99 AT 91U gRT $H IR a1 STH U= T fam 7| 39S 91
1870 ¥ HIIH! TIHI TFe TRT §31T 3R 1902 H et Tae URT §3T1 3 ST 3| Hag A 98
gfia far mar & 81 o= S PRGN A STH 7 HA1 US| il A 3 a1 STUaTRa & HRUT ER A
SATATH B THRT I §1 TS| T AN DI Bae! g1 gHRITY DI P & ATaTT B A 781 foradt A
TR g9 (fravy@ & SigT wifere) = 1887 © Us Wd fhar| 59 9d & HaIfa® dgd | 10 TG a1 TR
Y| Ug 3T GHG & TG Bl TGS BT 91 Fla=ra ATl

ST TR HY TGP 1 T Y U= BT IR Tarsy |

T fHd FREM A FH 399 W T 1 B IO T HIb dgd? HHTS 81 ordt 42
1.7

2. dlad

3. 3WRTY

4.7

Correct Answer :-

o UMY



23) T I WM B Fgd & el ugd i forarait & Y &1 H1 R 781 g1 81 99 HioH &1
ITeH Fa-1T TS g1 @ b S99 3= nfes nifafafer &t wwd= e @ & <rewi &1 faerT gam
TR TURMT A F3 MAfARMA &1 Fx g3 e §; A Aeifae T, RS oF, I ¢, anfife dwid
3R difge wfafaftat| shenfie wifa & &3 grre a1g Wt siftrei=r ufddt 3=r wrfior ufvasr are € 2
e A g & Sitenfie el ® ven arat siftrasi=r @it umeior &3 A verad #d 3 &1 1750 3T 3T
370S 3R I & g At ° N TP AfcT de-T | ¥gdl 4TI AT Uh 981 e 4T SEl 3 JA-4SAT 675,000 |
1810 ¥ 1880 & §I9 T B 10 ARI T IEHY 40 ARH Bl 7Ts; HAAT IR 1 gl T3 | g1 § DIS gt
Faesl T8l At TP FTaN[g Ao UATd B aTal B YT HiTd gaiT ST AT| de-T & SIHATS | ISR
F HTE! AR A1 P ATl AN Pt HUST, ofd, ABSt, BiraR, Aed, Fonf-are, fifer six tfiem
s’gﬁ?ﬁ%ﬁmﬁwml

uYH Ay g (1914-1919) & SR ded H $R iR sAfRedd IS BT 9471 Y g1 39 e A 93
PREM! D YT 5§31 TS AT Sld1 & 916, ded A AR & o TR T TP {818 37 98 FR@H]
T HiS[g YT We XMER & ATHR A Feras! & a1y Jgl 1y H 1ff geiasl g3 | U UM & IR 1870
F P H 59 ¥ H T 20,000 m%ﬁw?ralﬁﬁvhﬁaﬁﬁwqﬁﬁawmaﬂﬁﬁﬁeﬁ
e WRTY FI1 1 A1 P35 9R gg i giar o1 P [t sRE™ A 7 399 R 14 $1 B Io1g MRy
PP AR PATS 81 Wl M| g b IR B afgensi #t e aeht 751 Wi afgarst «F o= or T
F & R IR & W A b1 R $IA B TR ST ST B3 Afgarsit 3 gax st & R oo R
formd wR 31 Y foram| +% T T $Y 399 AT 917 §RT $H IR a1 ST U= &1 far Tam| 39S 91
1870 ¥ HIIHY TIHI TFeE URT §31T 3R 1902 A Tt Tae URT g3T1 39 S| 3t Heg I 98
gffia foran wan {5 B¢ = 3 FREHI § S 7 A1 US| Tial S 3 aTd STUaTRdl & $ROT e |
SATATH B THRT I g1 TS| 37 AN DI Baet g1 gHRITY DI B A ATaTd B a7 fradt A

T Y (fravya & SieT™ wifere) = 1887 © Us W4 fran| 59 Wd & Haifa® dgd | 10 ARG @R TR
Y| 98 I U & de-1 Bl SISt BT a1 Hfa=rd ATl

ST TRl F UgH - U T U= $T I«ik qarsy|
U= XTEX THRM I T i A?
1. B3 TAfTIa & bx

2. 4R
3. W Wi srre
4. AU ST

Correct Answer :-
. &3 Tfafafol & by

24) TMEX 39 WM $I Hgd & o8l g e frareit § $Y &1 #15 R 7Y g1a1 31 S1a His = &1
ITeA Fa-1T P g1 @ fh S99 o snffes nifafaftr &Y wwd= e o & <rewl @1 fawry gam
TR TURM A T3 MATARAT BT Hg AT HRd 8; O AST-dD T, RS o, ST &€, enfife d=md
3R Afge nfafaftrar| sienfie wifd & $ e a1g WY sz ufddt =1 urfior ufvawr ara € A

e ¥ 3% & SNeNfire el ® v ardt SifreT=r @it g &= |/ UarE @ 1 A1 1750 3T 3Ta
TS 3T A P g2 A # A U afqd ded | TgdT UT| W TP TST XeX 4T SI6] B S8BT 675,000 2t
1810 ¥ 1880 & ¥IT T B 10 AT I IEHY 40 ARG Bl 7Ts; HAAT IR T &1 T3 | e § P13 g3t
Faedt T8 M| 3P Trav[g T TATAT HI ATal B YT HISTe §3HT T UT| T & SIAars A AR
F BTH! TR A1 Y ATl AN B HUST, A, AhS, PR, Aed, gonfarar, fifen ik afe
segHe | Wt e firerar T

YT f3Y 5 (1914-1919) & IR del & BR IR sAfdedd SIS BT T YT 3T 3 A1 d g8
PRAMI D AT §51 TS 9HY Sd+ & 16, T T AR & Fd TR BT TS 818 57 98 SRAH]
T HIN[G UT| Te RMER & MMHR A Felast & 1Y gl Ry # +ff 9¢iad) 351 Ueh W & 39R 1870
¥ P H 39 X A T 20,000 mzﬁmﬁﬁlﬁm?ﬁﬁaﬁﬁwqﬁﬁmwmﬁﬁﬁﬁﬁ%
T RTY H T A1 $3 IR g8 W ghar A1 7P fFeft sREm o 0 309 W $TH I B Io STuRTY
PP AR PHATS 81 WTdl A | & b R B Afgenail Pt At =eht 7 | Wi Afgenai &) 3ru=m Tor TR



B & o RT & R & AT aa- P B ASIGR 841 USTI FS Afgarsit 7 gok $l & i s w®
formd W 31 3 foram| +E T T $Y 39 AT 917 gRT $H TR a1 STH U= 1 f&ar Tar| 39S 91
1870 ¥ HIRR! TIPHIH Tae URT §3IT 3R 1902 A el Tae U §3iT1 371 STl 3t Heg A T8
gff¥a foran wan % B¢ a=f 3 FREI 8 S 7 A1 US| Tial S 3 aTd STUaTRdl & HROT e |
SATATH B THRT I 81 TS| F7 AN DI Baet g1 gHRITY B P A ATaTd B A 781 foradt 4
TR Y (fravy@ & SieT™ wifere) = 1887 © Us W4 fhar| 59 9d & oIl dgd | 10 TG aFT TR
Y| Tg I9 THT & TG DI MATS BT a1 Ufer=rd ATl

ST TR $ UgH - U T U= $T I«ik qarsy|
TI: S TSI Tae $d 3R B! Tae &9 T gaim?
1. 1890 3R 1852

2. 1870 3R 1902

3. 1880 37K 1872

4. 1885 3R 1905

Correct Answer :-

. 1870 3R 1902

25) TMEY 39 W[ P! bgd & wel yqga e frareli & $iY &1 #1$ W 78 a1 81 S1d Hie &1
IedTe 31 3HfU® g @ fr 9 oy e nifafafiral o1 wad= frem @ ot <1l &1 fawra gam
TR TURM A F3 MATARMAT BT Hg AT HRd 8; O SIS IT, YRS o, ST 44, enfife I
aﬁwﬁ@mnﬁ%ﬁmwﬁﬁ%wﬁr%w{mmﬁﬁwﬂ%ﬁ%ﬂmmmﬁﬁm
3T o g & Sienfire =re?l § 38 ard Sifrei=r T umiior &5 | v 3% 3 A1 1750 3T 3T
A0S 3R 90 P &¥ A1 ¥ A TP AfRT v A Igd1 UT| e UP IS1 WeR UT 91 &1 S-_E 675,000 A1
1810 ¥ 1880 & §IT €T P! 10 AT | TeHR 40 ATH g1 TS; WA IR I g1 TS | Tg ¥ PIs a8
Faedt T8t M| 3P TTas[g T TATaT HI ATal BT YT HISTe §3HT HT UT| T & SIHars A AR
F BTH! AR A1 Y ATl AN Bl HUST, A, b, PR, Aed, geifarar, fifer ik afe
Secgue # Wt e firerar T

YW {4y 95 (1914-1919) F SR ded ¥ FR R safdedd IATEl ST 99471 % 3T 34 deT A g8
PREM! B YT §3 | $© GHT S & d1G, e T AR & $d ATHR] BT TP (818 37 98 PRI
o Hiv[g YT Te XMER & ATPR A Fetas! & a1y Tgl 1y H off geiadl g5 1 U UM & R 1870
& TP W 3 X H AU 20,000 TRt TEd A1 o A ot Ao 1Y e urar 31 399 | o5 |
T URTY R T A1 F5 IR g8 N giar o1 o [Feft FREM & 0 3a9 IR S0 I B 919 U1
P g} AT 81 et A | I & IR F3 afgarsit 3t e aeft 751 Wht afgarsit H o= TR TR
B & R gRY & WR1 A DT SRa- H B TGy 4T USTI H3 Afeansit 3 gk Sl & R s W=
I wR 3 3 T +% e g B 39S AT 919 gRI $H WIR a1 STH 9= @9 ar war1 379 91g
1870 T HITE! TIHI Tde URT §31T 3R 1902 H et Tae URT 3T 31 S| 3t Hag I 98
gffea far T fF B 9= & FRTM & ST 7 HE1 US| 6l A M ard SMuaryay & HRoT e A
START B THET I 81 75 | 31 A 31 Bl AT gHRITT B aRE I S 3t Jfaem T8 frerht <&t
Ted g (RIaRy@ & wIgTe Arferd) A 1887 ¥ U Id (%11 39 9d & Tala® de- § 10 A1G Al TR
Y| Ug 39 AHG & e Bl ATETST BT 41 Wia=ra ATl

I TR P UgH? 12 IR T U= $T Ik ga1s¢|
UH: TG | B8l B HI P AW D A?
IS

2. SHATS

3. 3G



4. PN
Correct Answer :-

. SlHars

26) WEX 3 W[ P! $ed ¢ oiel vgd i fparei § $ o1 $Ig AT 7E ST 21 STa HisH &1
IeTeA Fa-1T P g1 @ fh I3 3 snfdfes nifafaftr &Y wwd= e o & <rewl @1 fawry gam
TR TURM A T3 MATARMAT BT Hg AT HR 8; O AST-dD TT, YRS aFf, ST 48, enfife d=md
3R A nfafaftrar| sienfire wifa & $3 e a1g WY sz ufddt =1 urftor ufvawr ara € A

e o 3% & SNeNfire el ® v ardt Srfrei=r @Rt Ao g ¥ UarE @ S A1 1750 3T 3Ta
37dS 3R I/ & ¥ 1 W A U aafat digd A IgdT ATI e U 981 [MER AT WI@T 31 9IRS 675,000 A1
1810 ¥ 1880 & §IT T B 10 AT I IEHY 40 AH Bl Ts; HAAT IR T &l T3 | e § P13 g3t
Faedt T8t M| 3P Trav[g deT TATAT HIA aTal B YT HISTe §3HT HT UT| T & SIhars A AR
F BTH! AR A1 Y ATl NN B HUST, S0, b, PR, Aed, geifarar, fifer ik afe
segde # Wt o firerar T

YT f3Y 5 (1914-1919) & SR del & PR AR sAfdedd SIS BT T [T g7 3 AT d g9
PRAMI D AT §51 TS 9HY Sd+ & 16, T W AR & Fd AT 1 TP 818 57 98 SRAHI
o HIN[G UT| Te XER & MMPR A Felast & 1Y gl Ry # +ff 9¢iad) 351 Ueh W & 3G9R 1870
& TP W 37 X H AU 20,000 TRt TEd A1 o A ot Ao 1Y fire urar 31 399 I #5 |
T URTY R aTd A1 P35 IR g8 1 giar o1 o [t FREM & &0 3a9 IR S0 3 B 919 U1
PP AT PHATS 81 WTdl A | & b SR B3 Afganail Pt i) =eht 7 | W Afgenai &) 3ru=m Tor TR
P & o1 ORI & R | ANpT TAT A D) AR 41 USTI F Afgansii 7 gaR S & 1 o )
AT W &1 Y fhaT| o3 TRiT Il &1 31 A 91U §RT HH WIR a1 H1HI W 0 {3971 14711 39S 918
1870 T HITE! TIHI Tde URT §31T 3R 1902 H et Uae URT §3T1 31 STl 3t Hag I 98
gffea far T fF B o= & FRTM & ST 7 HE1 US| 6l A M I SMUaryay & HRoT e A
STATRT B T I 81 75 | 371 A 31 B} U1 gHRITT B aRE J S 3t Jfaem T8 frerht <&t
Ted g (RTaRy@ & wigTe Aiferd) A 1887 ¥ U Id (11 39 9d & Galad de- | 10 A1G Al TR
Y| gg 9 TG & W DI ATETG BT o1 yforsra ATl

IU e TR P UgHR 12 IR T U= $T Sk Ja1s¢|
U=H: O] 1750 ¥ de 3t s-aen fea- A

1. 345000

2. 47500

3. 575000

4. 675000

Correct Answer :-

e 675000

27) ER 39 WM $ Fed ¢ el ugd e fparsit § $fY &1 Hi = 78 gar 81 19 Hie= &1
IeTe 31 SHfU® g1 @ fr I o=y e nifafafRrat &1 Jud= firem @ ot =1l &1 fawra gam
X FAM A F3 Mfafafir) &1 Fg g Fd §; A} Ao F«T, URMEHAS o, SN &, enfife Twimd
3R difge wfafaftrar| shenfie wifa & &3 grre a1g Wt siftreizr ufdedt 3=r wmfior afvawr ara € 2
o1 o 3 & Sienfire el W g+ ard ifie =T @t umfior &5 @ UarE $Rd S &1 1750 3Td ST
37AS 3R I & g At § N TP Aufcd de-T | ¥gdl AT| Ao Uh 981 WX 4T el P =S 675,000 |
1810 ¥ 1880 & ¥1¥ T B 10 AT | IEHY 40 ARH &l T3; HAAT IR T &1 T3 | e H P13 a3t
Pt 78 1 3UF TTaN[g AT TATIH B 916l B G AT AT AT YT e F SIHATS F AR



F BTW! TR A1 TP AT AN B HUST, A, B, BT, Hed, Fonfrarar, fifén ik ke
g@?ﬁmmﬁmml

7Y Iy T (1914-1919) & IR de & ®R R sAfdedd SIS BT T Y® g1 3 AT H g9
PREM! D AT §51 TS G0 Sd & 16, T T AR & Fd TR T TP {818 371 98 SREH]
o Hie[g UTI de- XMER & PR A Fetad! & 1Y TgT o1y F +ft ggiasl g3 1 Te S guH & 3ER 1870
& TP | 3 Y H T 20,000 mﬁwﬁﬂlﬁq?ﬁﬁaﬁﬁwaﬁﬁﬁmmmﬁﬁaﬁ@%
e RTY FI1 1 A1 P35 aR gg i giar o1 P [t sRE™ A o7 d99 R 19 $1 B Io17 MRy
TP AEAR DT o1 Tl N1 & F IR F3 Al ot Aiodt geit 7% | T Afgarsii ST 3o=r [or T
F & R IR & W A b1 R HIA B TR ST ST B3 Afgarait 3 gax St & R o= W
ford wR 31 Y foram| +E T T $t 399 AT 917 §RT $H TR a1 HTH U= 0 f&ar 7| 39 a1
1870 ¥ HIIH! TIHI TFe URT §31T 3R 1902 H et Tae URT g3T1 3 S| 3| Hag I 98
gfia far mar % 81 9= & FRE | STH 7 HAT1 US| il A 3 a1 STUaTRa & HRUT ER A
SATATH BT THRT I §1 TS| §7 AN DI Bae! g1 gHRITY DI P A ATaTT B Flaem 781 fAradt A
TR g4 (fravy@ & SieT wifere) = 1887 ® Us Id fhar| 59 Wd & oIl dgd | 10 AT 1T TR
Y| Ug 39 UG & Ted BI TGS BT 91 Fla=ra ATl

ST TR FY TGP 1 T Y U= BT IR Farsy |
U f5a I &1 IauTe 98- | U8RI &1 fAPRT gam?
1. Had Qe

2. Had AN-ASa

3. Hdd gy

4. Jugad it
Correct Answer :-

. Sugad ot

28) XMEY 39 WM FI Hgd & el g 3w foraraeit § $Y &1 #15 R 7Y g1a1 31 o1a Hio = &1

I ST 3HfU® g @ fr S99 o= e nifafafiral o1 wud= farem @ ot <1l &1 fawra gam
TR TURMT A F3 MAfARMAY &1 Fg g3 R §; WY AoHfa® I, YRS o, I ¢4, anfife Twd
IR difge fafafirt| sienfire wifa & &3 gz a1g it siftreizr afdedt = yrftor afvasr ara &t A1
3= 7 3= F el e # T8 arat iftrer=r T unfior &5 / U $3% M ¢ 1750 3MTa 3
TS 3R T P &¥ A1 § A UP AfRT dig A IgdT 4TI e TP IST WER UT ST B! S-:ET 675,000 A1
1810 ¥ 1880 & §19 Tgd I 10 AT I IEHY 40 AH Bl 7Ts; HAAT IR T &l T3 | &g § BIS a3t
Pael T8l <t TP FTaNg Ao UATd HIA aTal B GReT HiTd g3 HdT ATI deT & SIBATS | ISR
F BTW! TR A1 Y ATl AN B HUST, A, dHSY, BT, Aed, gonfarar, fifén ik afem
SecHe ® Wt e firerar T

7YY fIY T (1914-1919) & SR de # ®R 3R sAfdedd SIS BT T4 I g1 3 AT H 8
PREM! B YT §3 | $O GHT S & 14, e T AR & $d TER] BT TP (818 57 98 RG]
T Hiv[g YT e XMER & ATPR A Fetas! & a1y T8l 1y H 1ff geiadl g5 1 U UM & 3R 1870
& TP W 3 X H U 20,000 Tl TEd A1 o A ot Ao 1Y firer urar 31 399 | *% |
Hie ARTY P oTd ¥ 3 IR g W g1 U1 P frelt FREM & $H 3d9 W STH $I1 $I IOl WRTY
PP JgaR BUTS 81 STl N1 g & IR B3 Afgarail Bt i<t et 7 | Wi Affansi S u=r ToR =R
B & o Rl & W1 A DT SRa- H B TG 4T USTI H3 Afeansit 3 gk Sl & ol e &=
I wR 31 3% T +% e T B 39S AT 91 gRI $H WIR a1 STH 9= @0 a1 7411 39 918
1870 T HITE! TIHI TFeE URT §31T 3R 1902 F et Tae URT 3T 31 BT DI Hag I 98
gffea far T fF B 9= & FRWM! & ST 7 HE1 US| a6l A 3F ard SMuaryay & HRuT e A
STATH B TURT IUT 81 TS| 37 AN DI Braet g1 gHRITY B a® | Smard Bt Flar T8 fradt 4
ITed g (AR @ & wIgTe Aiferd) A 1887 ¥ U Id (%411 39 9d & Gdlad de- | 10 ARG Al TR
Y| Ug 39 AHG & e Bl ATETSE BT 91 Wia=ra ATl



ST TR P UgHR 12 IR T U= $T Sk ga1s¢|

UH: T 1810 ¥ 1880 9 dg &I SiE fohaw & Sgdx fovasil gt 182
1.5 ARG Y 10 ARG

2. 20 ARG 30 AR

3. 10 ARG ¥ 40 ARG

4. 40 TRG A 80 AR

Correct Answer :-

e 10 ARG Y 40 ARG

29) TMER 3 WM B Hgd § oel ugE e forarsit & $f &1 ®ig R =8 giar 81 919 Wi 31
IeTe 3T SHfd g1 @ fr I o=y enfdfes nifafafRrat o1 Jud= firem @ af =1l &1 fawra gam
X GAM A F3 Mfafaftra) &1 Fg g Fd §; A} Ao T«T, URMEAS &, ST &0, enfife dwimd
aﬁ?ﬁ@ﬁnﬁﬁfﬁmaﬁ@%mﬁ%ﬁmmmeﬁwmwmmaﬁam
o1 © 3 & Sienfire el W g+ ard if¥esi=r @it amfior &5 & Uere $v S &1 1750 3MTd ST
37dS 3R I & g At ° N TP aufcd de-T | ¥gdl AT| Ao Uh 981 e 4T Sel B =S 675,000 2t |
1810 ¥ 1880 & §1¥ Tgd B 10 AT | IEH 40 ATH Bl T3; HAAT °R T &1 T3 | e A P13 I3t
Pt 78 1 3UF TTaS[g AT TATIH B 916l B G AT AT AT YT e F SIHATS A AR
F HTE! AR Y| TP AATAT AN Bt HUST, 9d, ABSt, BeiraR, Aed, Foif-are, fifen i wfem
g@?ﬁmmﬁwml

7Y fIY 5 (1914-1919) & SR de & ®R IR safdcdd IMIGH BT T I 3T 3 W7 H g9
PREM! Dt YA §51 TS U Sd & TG, Ted T AR & Fd TR T TP {818 371 98 HRGH]
o g YT Te MMER & AMPR A Feras! & a1y gl 1y § off geiad) g5 1 U U & 3R 1870
& =P T 3 X | TIHT 20,000 FRIH Iga | o AR Y Ao 2T Firer urar 31 396 @ 5 B
e RTY FI1 1 A1 F5 9R gg i giar U1 P {3t sRE™ A 7 d99 R 14 $1 B Io17 MRy
PP A} PATS 81 Wl A | g5 b IR B afgensit Ft e aeht 75 1 Wi afgarst & so=m or T
F & R gIRT & WY A Db R A B TR ST ST B3 Afgarsit 3 gax 1l F R o= W
ford W 31 Y foram| 8 T Tl $1 S99 AT 91U gRT $H TR a1 STH U= T f&am 1| 39S 91
1870 ¥ HIIH! TIHI T URT §31T 3R 1902 H Tt Tae URT §3T1 39 ST 3| Hag A 98
gifia far mar & 81 o= S FRE | STH 7 HA1 US| il A 3 a1 MUl & HRUT ER A
SATATH BT THRT I §1 TS| T AN DI Baet g1 gHRITY DI P & ATaTT B o 781 fAradt A
TR g9 (fravy@ & SigT wifere) = 1887 © Us Wd fhar| 59 9d & HaIfa® dgd | 10 TG a1 TR
Y| Ug 3T UG & TG Bl TGS BT 91 Fla=ra ATl

ST TR HY TGP 1 T Y U= BT IR Tarsy |
TR: We UeR PT AR 9¢1 A 5 9ie A agiad) g52
1. 37

2. 3dlgd

3. SORTY

4, grdrard

Correct Answer :-

o UMY



30) TMEX I RIM &) $gd & 8! v@ 1w fparsii § $ &1 HI5 = =18 ghar 81 919 Wi &1
ITeH Fa-1T S g1 @ foh S99 3= nfdes nifafafer &t wwd= e @ & <rewi &1 fawrT gam
TR TURMT A F3 MAfARMA &1 Fx g3 Hed §; O Aeifae T, RS oF, I 49, anfife dwid
3R difge wfafafiat| shenfie wifa & &3 grre a1g Wt siftrei=r ufdedt S=r wrfior ufvasr are € 2
foe A g & Sitenfie el ® ven arat siftrasi=r @it umeior &3 A uerad #d 3 &1 1750 3T 3T
370S 3R I & g At ° N TP ufcRT de-T | Tgdl AT| Ae-T Uh 981 W 4T Sel P JA-4SAT 675,000 |
1810 ¥ 1880 & dI9 T B 10 ARI T IEHY 40 ARH Bl 7Ts; HAAT IR 1 gl T3 | &g § DIS g3t
Paesl Tl At TP FTaN[g Ao UATd B aTal B YT HiTd gaiT HedT AT| deT & SIHATS | ISR
F HTE! AR Y| P ATl AN Bt HUST, 9d, ABSL, BiraR, Fed, Fonfare, fifer six afiem
s’gﬁ?ﬁ%ﬁmﬁwml

uYH Ay g (1914-1919) & SR T H FR iR sAfRedd IS BT 9471 Y g1 39 e A 3
PREM! DI YT 5§31 TS G0 Sd1 & 916, de A AR & o TERI 1 TP {818 37 98 FR@HI
T HiS[g YT We XMER & ATHR A Ferast & a1y I8l 1y H 1ff Seiasl g3 | U UM & IR 1870
F P H 39 ¥ H T 20,000 mﬁwﬁalﬁlﬂ?ﬁﬁaﬁﬁwqﬁﬁawmaﬂﬁﬁﬁﬁ%
e RTY FI1 1 A1 P35 9R gg i a1 o1 P [t FRE™ A 7 399 R 14 $1 B I917 (uRTY
PP AR PATS 81 Wl M| g b IR B afgensi #t e aeht 751 Wi afgarst «F o= or T
F & R IR & W A b1 R $IA B TR ST ST B3 Afgarsit 3 gax st & R oo R
formd W 31 Y foram| +E T T $t 39 AT 917 §RT $H IR a1 STH U= &1 f&ar Tam| 39S 91
1870 ¥ HIIHI TIHI TFeE URT §31T 3R 1902 A et Tae URT g3T1 39 HIHI 3t Hag I 98
gff¥a foran wan {6 B¢ s=f 3 FREHI § S 7 ST US| Tial S 3 aTd STUaTRidl & HROT e |
SATATH B THRT I g1 TS| 37 AN DI Braet g1 gHRITY B B A ATaTd B a7 fradt 8

T Y (fravya & SieT™ wifere) = 1887 © Us W4 fran| 59 Wd & Haifa® dgd | 10 ARG @R TR
Y| 98 I U & de-1 Bl SISt BT a1 Hfa=rd ATl

ST TRl F UgH - U T U= $T I«ik qarsy|

U: XeX B uqE e fparai # fhaer ahrer ) gar?
1. PR ITB

2. 3N

3. Pl

4, UR

Correct Answer :-

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and
added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages



In the passage, spanned over means:
1. Bridged across

2. Lasted for

3. Comprised

4. Enclosed

Correct Answer :-

o Lasted for

2) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and
added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages

According to the passage, we come to know that the Ottomans were very influential because:
1. they created a unique and distinct cultural identity in all fields only

2. they initiated marriages among different cultures of people only

3. only their empire became one of the most powerful states in the world then

4. All of the above

Correct Answer :-

o All of the above

3) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and



added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages

Who replaced the Ottoman Empire after 19222
1. Middle East rulers

2. Osman |

3. Turkish Republic

4. Turkish tribes

Correct Answer :-

o Turkish Republic

4) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and
added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages

What is the origin of the title ‘Ottoman’?

1. The title was derived from Arabic word Uthman
2. The title was given by the village monk

3. It was named after an ancestor

4. It was absorbed from the regions they conquered

Correct Answer :-

o The title was derived from Arabic word Uthman

5) Read the poem carefully and answer the question given below:

Flight to Imagination



Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment
To a silent, receiving, open mind...

Fly back to me and recount

The never-ending chronicles of the wanderings thine.

Fly away again to a new destination

Forgotten by cartographers to put on the map.

“Explore virgin lands ....... " The words in bold describe a place
1. where young women stay

2. which is pure

3. which is unexplored

4. which is newly developed

Correct Answer :-

» which is pure

6) Read the poem carefully and answer the question given below:

Flight to Imagination

Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment

To a silent, receiving, open mind...



Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

“Thine"” is the old English formof .
1. we

2. therefore

3. to you

4. yours

Correct Answer :-

e yours

7) Read the poem carefully and answer the question given below:

Flight to Imagination

Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment
To a silent, receiving, open mind...

Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

“Soar oh mighty bird! Spread... fly”. The figure of speech is:

1. Metaphor



2. Personification
3. Exclamation

4, Alliteration

Correct Answer :-

o Exclamation

8) Read the poem carefully and answer the question given below:

Flight to Imagination

Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment
To a silent, receiving, open mind...

Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

The synonym for unspoilt is:
1. New

2. Unharmed

3. Decomposed

4. Damaged

Correct Answer :-

e Unharmed

9) Read the sentence carefully and choose the option that has an error in it:



Deepa and Rani love chocolates but their brothers do not like them.
1. No error

2. Deepa and Rani love chocolates

3. do not like them.

4. but their brothers

Correct Answer :-

* No error

10) Fill in the blank with the correct option in the given sentence:

Some people feel that parents are the best ______ for their children.
1. instructive

2. instructor

3. instructors

4. instructions

Correct Answer :-

e instructors

11) Fill in the blank with the most appropriate preposition in the given sentence.

The light hangs __ the dining table.
1. over

2. between

3. front of

4. along

Correct Answer :-

12) Choose the most appropriate determiner in the given sentence.

Can you see boys up on the hill?



1. that
2. all
3. those

4, these

Correct Answer :-

o those

13) Fill in the blank with the correct option in the given sentence:

During the mid 1800’s many people joined the --slavery movement.
1. pre—

2. anti—

3. post—

4, ante -

Correct Answer :-
e anti—

14) Choose the right tag:

Most women are afraid of ghosts, ?
1. isn't they

2. aren't they

3. are they

4. don't they

Correct Answer :-
o aren't they

15) Change the given statement to indirect speech.

Ram said, "The pyramids in Egypt are one among the seven wonders of the world.”
1. Ram said that the pyramids in Egypt was one among the seven wonders of the world.

2. Ram said that the pyramids in Egypt are one among the seven wonders of the world.



3. Ram said that the pyramids in Egypt is one among the seven wonders of the world.

4. Ram said that the pyramids in Egypt were one among the seven wonders of the world.

Correct Answer :-
o Ram said that the pyramids in Egypt are one among the seven wonders of the world.

16) Choose the appropriate prepositions for the given sentence:

Many young boys run away their homes and go a big city when their parents scold
them some reason.

1. into, at, for
2. to, in, for
3. from, at, from

4. from, to, for

Correct Answer :-
» from, to, for

17) Choose the appropriate antonym for the highlighted word in the given sentence.
The technician has to fix the switchboard.

1. Break

2. Repair

3. Brake

4. Damage

Correct Answer :-

18) Choose the appropriate conjunctions for the given sentence:

Living in a village is uncomfortable the lifestyle will be healthy of the
purity in nature.

1. but, because
2. and, because

3. however, still



4. besides, but

Correct Answer :-

¢ but, because

19) Choose the appropriate suffix to fill in the blank.

Very soon, his acting career sank to medio--.

1. --cration
2. --crous
3. --cre

4. --crity

Correct Answer :-

20) Choose the appropriate pronouns for the given sentence.

Being an only child ’ understood very early the importance of good
friends.

1. himself, his
2. herself, her
3. herself, she

4. yourself , he

Correct Answer :-
¢ herself, she

21) Choose the appropriate option that rewrites the given sentence in its active voice.

You were presented a gift by me.
1. | presented a gift to you.

2. The gift is given to me by you.

3. I was given a gift to me by you.

4. You were given a gift to me.

Correct Answer :-

» | presented a gift to you.



22) Choose the appropriate tense to fill in the blanks in the given sentence :

We to a movie yesterday after we in the afternoon.
1. went, had lunch

2. had gone, had lunch

3. have gone, have lunch

4. will go, will be having lunch

Correct Answer :-

e went, had lunch

23) Choose the appropriate synonym for the highlighted word in the given sentence.

There has always been an interest in geniuses and prodigies.
1. Intellects

2. Dullards

3. Mentally retarded

4. Highly talented

Correct Answer :-
» Highly talented

24) Choose appropriate articles for the given sentence:

Godavari is one of largest river in South India.
1. The, the, the
2. The, the, no article required
3. An, a, no article required

4. No article required, an, a

Correct Answer :-

e The, the, no article required

25) Choose an appropriate modal for the given sentence:



India not have become an independent nation without the efforts of the freedom
fighters

1. should
2. can
3. could

4, shall

Correct Answer :-
e could

26) Choose the option that substitutes the given phrase appropriately.
A person who is fluent in many languages

1. Monolingual

2. Trilingual

3. Polyglot

4. Bilingual

Correct Answer :-

» Polyglot

27) Choose the option that best explains the highlighted expression:

This computer has an edge over other models, because it has such a huge hard drive.
1. is better than

2. slightly changed

3. is worst

4. is inefficient

Correct Answer :-

* is better than

28) Choose the option that best explains the highlighted expression:

I wish I could weave my magic and get things back in order.



1. to cast a spell on somebody
2. to make something easy
3. to make something difficult

4. to make something or somebody behave in a particular way

Correct Answer :-

* to make something or somebody behave in a particular way

29) Choose the option that best transforms the sentence into its Indirect form:

He asked her, "Where do you work?"”

1. He asked her as to where she was working.
2. He asked her about where she worked.

3. He asked her where she had worked.

4, He asked her where she worked.

Correct Answer :-

e He asked her where she worked.

30) Which of the given options best combines the given sentences?

It rained heavily all of last week. The dam is facing a threat.

1. It rained heavily all of last week; therefore, the dam is facing a threat.
2. It rained heavily all of last week, though the dam is facing a threat.

3. It rained heavily all of last week as the dam is facing a threat.

4. It rained heavily all of last week because the dam is facing a threat.

Correct Answer :-
« It rained heavily all of last week; therefore, the dam is facing a threat.

Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:



AR & 1Y fas= &t g | 9] &1 4= SRR B T [ATHS Rigror fafer, S
o5 @a fagm, Sfta fagm, vifas), gedt fagm= enfe, A @:

1. Science Exhibitions /%ﬂﬁﬂ?‘\ffﬁ'ﬂ\f
2. Science Games /ﬁ?ﬂ‘f@ﬂ

3. Science Fairs /ﬁﬁlﬁﬁﬁ

4. Science Songs /ﬁ?ﬂtﬂﬂﬁ

Correct Answer :-

« Science Songs / o= fa

2) Who gave the model of “Cone of Experience”? /
"I 3P THAUIRGH" BT Alsd fban fgar 412
1. Burton / §¢4

2. James S. Kinder / SIFg Y. fheY

3. Edgar Dale / USTIR s
4. Carter V. Good / PTE G, s

Correct Answer :-

« Edgar Dale / TSR sd

3) Developmental Psychology is studied by other scientists, Except for:/

fApraTH® FaifagE A= 9 Sis®e 3= Anfe! gRT 3rvaa= far Sirar &:
1. Anthropologists / HTHd fasrt (@ﬁ@ﬂﬁ“@)

2. Biologists/ S1d fag! (STATQAITORE)
3. Physicians / ifaes fagmi (ﬁb—%lmtl‘)

4. Physicists / Hifas ﬁ?{ (ﬁﬂﬁlﬁmﬁ)

Correct Answer :-

« Physicists / Wfas ﬁ?{ (ﬁb—'\lﬂm

4) What is one method of transferring information from short term to long term memory? /

TY-PTAH | STH-Prei Ffa ® Geqr RAEiaRd $31 31 v Af ®n g
1. Rehearsal / u;ﬁwm



2. Decaying / Udd
3. Delaying / IEEER]
4. Chunking / 1

Correct Answer :-

+ Rehearsal / WW

5) What is the smallest unit of speech known as? /
YIYUT 1 T4 DI SBTS PI F9T T SATdT 82

1. Morpheme /=g (ﬂfcbﬂﬁ:[)

2. Word / Rleq (aé)

3. Syntax / AT-fa=arg Rica)

4. Phoneme / WA (@T‘Fﬂ)

Correct Answer :-

« Phoneme / WfAH (Qﬂ:ll_\‘:l)

6) Permanent hardness of water is due to: /

o B RITN $3RdT BT HRT 8-

1. CaCO3
2. Mg(NO3 ),
3. MgClz

4, N32CO3

Correct Answer :-

. MgC12

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here,
the 20N and SON are acting towards left and 30N is acting in the opposite direction. Now the
resultant force acting on the body is: /

TP afas IHdd IR 7@ T BT TR 20N, 30N 3R 50N & T Ta T €120 N 3R 50
N,am%h?mﬁ%'sﬁ?swﬁqﬁaﬁmﬁwﬁé'lﬁwwwﬁmmvmﬂw

1. 40N towards right / E‘TE{ M40 N



2. 40N towards left / ST 3R 40N
3. 40N in the downward direction / -1e 1 3R 40 N
4. 100N towards left / 91T 3R 100 N

Correct Answer :-

« 40N towards left / ST 3R 40 N

8) Ultra microscope is set up based on which property of colloids. /

CTT AISH RGP IY BIdIsS & 5y 0T & TR TR RIT frar man g1
1. Brownian movement / ST3{=a Tfdl

2. Tyndall effect / feed uura

3. Electrophoresis / 3ququ| NERE

4. Coagulation / STHId

Correct Answer :-

+ Tyndall effect / fded uura

9) is the only mode of heat transfer which doesn’t require a material medium. /

5 THHTH S SAT RITHIARUT BT a1 & Foras Arell Aread o1 srawasdr g1 gl
|

1. Convection / g
2. Heat pumping / 5 SHI qieT
3. Conduction / dTel
4. Radiation / fafr

Correct Answer :-

. Radiation / fafezor

10) If the amplitude of vibration is increased to three times of its initial value, then the
loudness of sound will: /

gfe $U9 & ATATH $ 39 TRIYS Hed & o9 A1 9 J¢T fear siran g, of eafy &t
Ugddr ghlt:

1. be doubled / &1 T[T

2. be six times of its original value / 30U IRdfd% A BT ST :



3. become three times of its original value / 30 IRGfd® A T di= AT
4. become nine times of its original value/ 30 ARAfd® AT BT A1 AT

Correct Answer :-

. become nine times of its original value/ 3= IRAfdeE HF BT = 7T

11) In an electrical cell , the energy is stored as:

S fagyd 9a ¥, Solf B 39 &4 § GUgid foran 9Iran &:
1. Charges / STARI

2. Heat energy / 3 ®HI St

3. Chemical energy / NS Sl

4. Nuclear energy / UIHIU] ol

Correct Answer :-

« Chemical energy/%li—lli—{i'\-ld) Sl

12) Select the statement which is not true: /

U HYT T TG D ol 9 g1 6:

1. Sound travels faster in metal than in air. / &, arg D1 30&r Y1d o Aot § I el g
2. Sound can be easily propagated through vacuum. /

fata & Areaw § el Tt T UIRd &1 S Ihaht ol

3. Sound can be produced by the vibrating air column. / ?H&f, $HUA a1 WH gRT IdTiad fopar o
qHA G|

4. Sound can be propagated through any medium. / fooddt off Tremm ¥ @ s 9§
TTRd & o Tl ]

Correct Answer :-

« Sound can be easily propagated through vacuum. /

fRata & Areaw | af AT T UAIRd o1 S Ibaht o

13) Select the pair of forces which are non-contact force: /
31 9l & I BT TUH B, 91 YR (FA-Plede) 99 o
1. Magnetic force and electrostatic force / W §d 3R RR aﬁfﬂﬁ ocl



2. Muscular force and magnetic force / URIT e 37 W qd
3. Muscular force and frictional force / U=f §/& 3R Ge0T &/

4. Electrostatic force and frictional force /fRUR aagﬂ § 3R g0 g

Correct Answer :-

» Magnetic force and electrostatic force / W I IR RR aﬂ'ﬂﬁ EN}

14) In which one of the following cases will Common salt dissolve in water most readily? /

frafafed & 9 fou fRufa & gruRr 796 ur-l & 9o Jaqar 9 faafd g s
1. 10gm of Ice at 0°C / 0° TR W 10 UH I%
2. 10 ml of water at 90°C / 90° TfRTTH TR 10 fHAcelier o

3. 10 ml of water at room temperature / HTHI- dTYHIT U 10 forcitefier S
4. 10 ml of Ice cold water / THId 38 @ BT 10 fHeiieiie”

Correct Answer :-

« 10 ml of water at 90°C / 90° TfRIY W 10 AR od

15) Alternating current is not used in: /

YTl YRT BT IUART 36 ] b1 oIl 3:
1. Transformers / ‘g’ﬂfb‘l“ﬁ?

2. Electric heaters / ﬁﬂ:ﬁﬁ GISCD

3. Electric geysers / [dggd ToR

4, Electro plating / ﬁ?{gﬂ GG

Correct Answer :-

« Electro plating / [dggd oA

16) The process of conversion of water vapour into liquid is called: /
oIeT TS & &q H S UTaR0l B UfshaT Hear! o:

1. Sublimation / $&UTA

2. Condensation / g

3. Melting / TTei



4. Fusion / GfRI0T

Correct Answer :-

« Condensation / g

17) During rainy season the rain water goes deep down into the earth passing through
different layers of soil.

Which one of the following processes does not occur during rain water seepage into the soil? /

mg%ﬁwﬁmmwﬁﬁ@%ﬁ&ﬁuﬁﬁmﬂqﬁﬁmﬁw
EIGI

IR & gt & ) # feara & SR fafafaa o & o1 <t uftear 78 afea gidt 32
1. Filtration / FrdeA
2. Sedimentation / 3{dITq

3. Distillation / HTEHdT
4. Decantation / FIEIRUT

Correct Answer :-

« Distillation / 3THdH

18) The commercial unit of energy is expressed in terms of: /
&l B OIS HTS 31 UST W e B STl &:

1. Nm

2. kW

3. Joule

4. kWh

Correct Answer :-

« kWh

19) Which of the following surfaces absorbs the least amount of heat energy when exposed to
heat radiation? /

fFrafafad & 9 $19 A Jag a1 fafe & 69ud & oA IR $9 A H S0 el Bl
SN Bl 82

1. Surface coated with white paint / b Ue I dfug Ydg



2. Surface coated with red paint / ¢flc] Uc ¥ ofud 9dg
3. Surface coated with black paint / HId Ue ¥ oifd ads
4, Surface coated with dark green paint / Tex 8X Ue ¥ aftd ude

Correct Answer :-

« Surface coated with white paint / e Ue 9 oftd Jag

20) Which of the following combinations are most suitable for composite fish culture? /
i3 aeguTes & fore Faferfaa 3 § &1 91 Jaee 969 Suge 82

1. Middle zone feeders and bottom feeders / H& \,rl-\l"l e Q_d dicH Bie

2. Surface feeders only / $Had Idg Blex

3. Surface feeders,middle zone feeders and bottom feeders / Tdg B8, 7 WH HIeX
T4 §icq Hie

4, Surface feeders and bottom feeders / Hdg Hiey d dicH B

Correct Answer :-

« Surface feeders,middle zone feeders and bottom feeders / ddg Uﬂ@?, A T B8

\J

Td dlcH Blex

21) Which of the following natural phenomena cannot be predicted accurately? /

fFafafad & 3 fra wefae ge 3t die yfasamnh 98 #t o aodt 82
1. Lightning / forsTef!

2. Thunderstorm / 3TH-qWHT

3. Earthquakes / HhH]

4. Cyclones / déhdld

Correct Answer :-

« Earthquakes / HhH]

22) Which of the following is not an animal protein? /

Frufefad ¥ <1 e siig wid=a T8 82
1. Wool / 3
2. Silk / I-H



3. Milk / QY
4. Pulses / qId

Correct Answer :-

« Pulses / &Id

23) Which of the following is not related to sound? /
frafifad & @ w19 1 @ I Wt g 3

1. Frequency / 3ﬂ§ﬁ'[
2. Microphone / AZHIhIA

3. Loud speaker / ¢1I3 S iR
4, Myopia / o

Correct Answer :-

» Myopia / g3l popa

24) Which is not a major advantage of Crop Rotation? /

frefafea o S & waa srad &1 4T a1y 81 82
1. Additional use of fertilizers / 31 &1 faRad ITANT

2. Conservation of soil productivity / Hal SdTGhdl Pl TR&T

3. Weed control / WRUJAR fHI707
4, Increased yield / 3Usl | Q'@

Correct Answer :-

« Additional use of fertilizers / 3d%eb| T 3ffafad ITIRT

25) Choose the incorrect physical property of non-metals. /
YT & SFRIT Wfaw 701 &1 T B

1. Generally they have low density. / JTHI-I: Ydcd b H @FIT %I

2. They are not sonorous. / IEED T-|Ts‘3[ G\Ic\i %I

3. They are brittle in nature. / E@ﬁ A q-ITR Eﬁﬁ ?fl

4, They have high tensile strength. / 3= d=IdT &HdI _Eﬁ?ﬁ %I

Correct Answer :-



« They have high tensile strength. / 3= d=Udl &HdI _Eﬁ?ﬂ %I

26) Choose the incorrect statement among the following: /

e o & sy goaa &1 99 B

1. Potassium is always stored in water. / qrefRy &1 SHIM UM H T STl % |

2. Potassium can be cut easily with a knife. / tn%&l'm:[ Udh dlp T AT Y BTl o bl %I
3. Potassium reacts with dilute acids to produce hydrogen gas. /

BIES IS T &1 SdTG B o [o1T UICTRITH T 3 & 1Y st drar g

4. Potassium when burnt in oxygen forms its oxide. /

TR & ST O TR Ui iRIgH 71 g e Iar g

Correct Answer :-

 Potassium is always stored in water. / uﬁﬁmﬂ A _Effl'Q'IT =t H @1 ST % |

27) When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2
cm, then the stored energy will be increased by: /

Sd T HHTL DI 2 AH a6 aifd fear sirar 8, a9 599 1000 ot Sufgd gian g, afe 39
2 It 3R aiftres arfera v wiran 8, a9 wudia St | fea- 9f aft:

1.400J
2.100J
3.300J

4.200J)

Correct Answer :-

« 300J

28) Out of the following options, select the correct relation for the electric power. /
fFrafafEd faweul 4 9, fagga wfe & e Ot Jey &1 999 #31

1.P=V/R?

2.P=V?R

3.P=1/R?

4.P=1*R



Correct Answer :-

29) An olfactory indicator among the following is: /

& o e mrgEe 3
1. Phenolphthalein / BIATTHRIfeA

2. Soap / HIg-
3. Clove / @I

4. Turmeric / m

Correct Answer :-

o Clove/ Fﬁ"T

30) The SI unit for measurement of length is: /
TS F 91U F AT SI THTE 2

1. Millimeter / fRHTCY

2. Kilometer / foraieiier

3. Centimeter / HeTHICR

4. Meter / HIcR

Correct Answer :-

o Meter/ Hiex

31) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

gfe s faemdf Tt Areal &1 ST $& difhe Hay gTPR fhdl TRt & qd-q-r ¢4 # e
8, a1 98 fu & "am &

1. Drawing conclusions / frpy fAepTer

2. Observation / 3{adid

3. Experimentation / IR

4. Providing explanation / TISIHRUT UG HRAl

Correct Answer :-

- Drawing conclusions / 1SS feBTerT



32) What is mineral oil? /

Qe ad Fa1 82

1. A mixture of glycolipids / TATSHITAIUS T U U

2. A mixture of hydrocarbons / Eﬁ'@ﬁﬁ D[ Uh forgo

3. A mixture of lipids and minerals / fafoet ik @i &1 U A
4. A mixture of water and oil / UTH! 3R Od BT Uh g

Correct Answer :-

A mixture of hydrocarbons / B@Wﬁ D[ Uh fargo

33) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

gfe tafy &t emgfty 2.5 fraieds § ik avvewd 20 9l & o 3 5 frd &Y amn we=
foraaT Twa @, 9 B

1.2.55/2.5 9 s
2.20s /20 Jhs
3.10s/ 10 9h g
4.15s/ 15 b

Correct Answer :-

. 10s/10 AbS

34) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

1 &y iR g egfa) &1 SUNT SaHSIH/IRe & Iute | fbur Sirar g 1 339H
IUAH il Bl IS H B AP 1A dcd I UgdH B |

1. Carboxylic acid / CACIERIINEREEN
2. Alkali / 3fcshei!

3. Mild acid / Gedhl 3T

4. Salts / ¢IdU

Correct Answer :-

. Alkali / 3cpalt



35) CANCELLED

is not an organic acid. /

TS BT -1P 3 g1 & |
1. Oxalic acid / 3aRiTcId 3T
2. Acetic acid / Tffe® 3t
3. Formic acid / BITH® 3
4. Carbonic acid / PP 3T

Correct Answer :-
« Carbonic acid / W T
36) CANCELLED

If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the
relation

F=X(mv) /(1 +Y) are respectively /

:ﬁ‘g ‘P> I 8, ‘m’ THAM 8 3T v’ A8, A F = X(mv) & GIY H <X’ 3R ‘Y’ & mATH
1.T,T!

2.LT!, LT

3. T, dimensionless / T™!, &nam'sﬁq

4. dimensionless, T / 3‘|TC|'|I|T§T‘L T

Correct Answer :-

« T, dimensionless / T'!, ST

37) CANCELLED

Identify the correct set of isotones among the following options. /

fafafad faeea A Q IawufAe & Sfa Ac &) uga= H1 |

15 16
1 2N and g0

16 18
, g0 and 50



40 40
; soCa and 5K

19Ar and 5K
4,

Correct Answer :-
15 16
2N and 30

38) CANCELLED
Which of the following statement is true: /
frafifeT # 4 s T FYTID 7

1. Thrust is the force acting normally on a surface. / &Y U Idg IR MR ¥ ¥ HH B arall
EGK]

2. Pressure is directly proportional to the area. / GdId, THA & T &ITTJTW gl

3. As thrust increases pressure decreases. /ﬁ@f-ﬁ@r 831:{ dedl % adld hH 5\I(‘II NGl %I

4. Pressure is inversely proportional to force applied. / GaTd, 9N §¢ & fqURId S1uTidd
gl

Correct Answer :-

« Thrust is the force acting normally on a surface. / &Y U qdg IR IR 29 ¥ B B arall
EGK]

39) CANCELLED

A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
T T 72 {5/ ger ot nfa & g« ¥ 8, 39@! wfd & /3 # uRafda a3

1. 10m/s / 10 HIA

2. 720m/s / 72 Hi/"

3. 30m/s / 30 HI/"

4.20m/s / 20 B/

Correct Answer :-

. 20m/s /20 WA

40) CANCELLED



Which one of the organisms mentioned below is a herbivore ?/
- gfofa Shal & ¥ ®19 v UeRR! 82

1. Shark / /T

2. Peacock / AR

3. Frog / ﬁw

4. Mouse / ggl

Correct Answer :-

« Mouse / ggl
41) CANCELLED

Which one of the following factors will change the magnitude of Equilibrium constant for
the following reaction?

N2(g) + 3H2(g) = 2NH3(g) /

ﬁqﬁlﬁaﬁﬁﬁﬂwwmaﬁm%mwﬁw% gf¥HTur B
e SR

N2(g) + 3Ha(g) = 2NH3(g)

1. Use of finely powdered Iron catalyst / SIRE? ?I;Uf Q'?I'é' SAR® BT ITINT

2. Decrease in the pressure of Nj(g) / No(g) & gara o ool

3. Increase in Temperature of the reaction / Sfffesar o araa | Q@

4. Concentration of Reactants / \’rl'f‘l\-lwl-lc Ak qigd

Correct Answer :-

+ Increase in Temperature of the reaction / 3{fHforar & arqaE o Q'@

42) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

Frafaf@a & @ S Rigor-3iftnma ¥ 5 TRaATErd) uisd &1 iR e 82
1. Engage / HerH (T

2. Elaborate /faJd ( TAisiT)

3. Enhance / 98aR ( T ¥)

4. Explain / 90 (TI@H)

Correct Answer :-



« Enhance /W ( Qq%ﬂ)

43) Which of the following is not a characteristic of a good textbook? /
fFrafafad # @ @19 @ ve s ureaywas @ faxivar 7Y 32

1. It may not cover the entire syllabus of one stage. / Ug Udh TRT] & 1@ Uraushy &1 AiRferd gl
B Fhl g

2. It is a finished product for transferring the knowledge. / dg 11 & G0 & fouus dOR
eI A

3. It should not be self-contained. / dg TgHt g1 3T FiFferd 7-|_Eﬁ_5ﬁ:ﬁ aﬁ%m
4. It may not be necessarily for a whole year. / T8 U QR 98 & forQ Sraxges Tgf 8 Il g

Correct Answer :-

« It is a finished product for transferring the knowledge. / Ug T & RSIREY & ﬁm Uh TR
IdTE 3

44) Which of the following is an objective for teaching students of higher primary level
(v, VI, VII)? /

I WYR® WR (V, VI, VII) & S & Rigur & fore FafafRa A 4 s A 3txa 82
1. Development of understanding of laws, concepts and principles /

g, sragrRumae ok Ryl 3 wre o1 fabr|
2. Development of power of reasoning / dob P! e B [dd |

3. Development of practical outlook / 9IRS fPHIu o fam |
4. Development of interest in reading scientific literature / 39T TIfed U | w1d o1 fam |

Correct Answer :-

« Development of power of reasoning / CCARNESCAREEAR]

45) An example of merry-go-round can be used to explain which of the following
scientific concepts to the students? /

AN-M-ISs (fESian) &1 I Fufaf@aa # @ $19 & amfae saurom &) SE & I s &
fore swiuTe fopar o 9oar 82

1. Oscillatory motion / ARENINKIIG]
2. Rotation of Earth / q%é’r gl Q:Uﬁ

3. Gravity / [¥*d
4. Centripetal force / %3”“@ g4



Correct Answer :-

« Centripetal force / %3””’5@ g

46) Clinical thermometer is designed to measure the: /

FeIfe ynfdier 3t ford AR & forg fewms= fvar man @:

1. Temperature of the chemicals used in the clinic / et | Ugdd ESIBRICAGIEEIS
2. Temperature outside the clinic/ FNfp &b dlgX dIgHq

3. Temperature inside the clinic / P & 3R daTgHH

4, Temperature of the human body / HIHd YRR BT dTHH

Correct Answer :-

« Temperature of the human body / HIHd YRR &1 d9qH

47) What is the duration of kharif crops? /
GG Bl B @i i1 7?

1. June to October / T I 3agaR

2. March to September / e ¥ Ride”

3. October to March / 3ageR ¥ A

4. November to April / Td&R ¥ 30d

Correct Answer :-

« June to October / [ | Sfdgar

48) An object completes 120 revolutions in 30 seconds along a circular path.
The ratio of its frequency to its period is: /

TS a3 U UNUT UY TR 30 G5s W 120 URHHUN Hf GRT HRal 81 59 @iy & fog
U@ TR BT 3JUTd 8

1. 14
2. 1:2
3.16:1

4, 4:1

Correct Answer :-



49) The force acting on the bullet when it moves through the air towards a
target is: /

o W T 9141 9, o9 89T A 3T B 3R g&dT1 8 O 98T 3:
1. Force due to the gun/W%Waﬁ

2. Gravitational force alone / 3{dhdi 1 [ cdlh U1 9

3. Gravitational force and frictional force. / WﬁfﬂT I 3R g 59|
4. Frictional force alone / 3fahc] TNl §d

Correct Answer :-

« Gravitational force and frictional force. / WEFUT I 3R g0 9T |

50) Expanding and cooling of hot air results in: /

TH ga1 ®1 foar SR Mae e § & fosae uivoms giar @:
1. Condensation / J&-T

2. Vapourisation / CILY G

3. Hail storm / Sfi@rayur

4. Precipitation / &g

Correct Answer :-

« Condensation / g

51) The radiations absorbed by ozone are: /
SIS gIRT Sraxnfia fafdor &

1. Ultraviolet rays / RIS fot

2. Infra red rays / 3{dRdd fpl

3. Gamma rays / 7THI fopul

4, X-rays / THRI-Y

Correct Answer :-

« Ultraviolet rays / RIS fopof



52) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

U e sarE ¢d @ o v & SR, e A Siftes faftra) &1 SuaiT s ufvumay
&1 FATUd fHaT &1 GohdT g1 U9 AP WU Bt P Al fagivdr &1 Ny gar g2

1. Critical thinking / T8 fefa1

2. Open-mindedness / ‘;IE'UT-‘Zﬁ?l?IT

3. Respect for evidence / HI&H & ﬁm HHTH
4. Logical thinking /m fia=

Correct Answer :-

« Critical thinking / 7T+ fid

53) For a person suffering from hypermetropia, the image of the object is
formed: /

e Qv A fifsa ve afedd ¥ e avg &1 ufafda a1 a9 8:
1. Behind the retina / Xf¢HT & Ul

2. In front of the retina / YT & A

3. On the retina / AT TR

4. On the eye lens / EERSRAEN

Correct Answer :-

« Behind the retina / i’lé:ll % tﬁ@'

54) Glucose drip is usually given to a physically weak patient because: /
I fSU MIAR R RIS U I SR T8 1 faar smar 3 wife:

1. He is not drinking enough water. / 8 JaT SIdf Ta! U} XgT ST g |

2. Dehydration can be prevented. / Eﬂ@ EERIERUEIREARSIR G| % |

3. It readily gets absorbed for energy. / I8 TRAdT ¥ FHoll P foIQ AT g1 ST

4. He gets a balanced diet. / 98 393 Iqferd 3MER UTdT B

Correct Answer :-

- It readily gets absorbed for energy. / g I q Folf & forw sra=nfa 8 Srar 31



If the angle of incidence in the first medium is equal to the angle of refraction
in the second medium, then the absolute refractive index of the medium is: /

gfe ugd ureaw ® SMufad 1T gR ATeAH | SUad & IV & YU g, <f ATeHH &1
qul 3Uacid GAPIP o:

1. 1.33
2. 1.1
3. 1.0
4. 1.5

Correct Answer :-

« 1.0

56) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

i T 7T uerdf 7 @ 1 A1 S WRa & 3raar & o IcRerd! T8 82
1. Carbon tetra chloride / BT CCTHIRIZS

2. Ammonia / ST

3. Aerosols / @?ﬁ?{

4. Chlorofluoro carbons / FARIGAHRIBIE

Correct Answer :-

« Ammonia / ST

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

Tepape-aadt uraq uell, 7 < fafky = § #ig Iare" & e urdt wrdt @:
1. Rhode Island / 1S 3‘”3%3
2. Turkey / U geft

3. Broilers / aTsﬂ“\f
4, Ducks / 91

Correct Answer :-

« Broilers/ QUW



58) Unambiguous instructions are always required for: /

1. Long Answer type questions ) STY SR Uy

2. Supply type objective questions / U] (\HT‘I[%T) UHR & aﬁﬁg I°E]
3. Selection type objective questions / I Yh X & aﬁﬁg U4

4. Short Answer type questions / €19 I Y

Correct Answer :-

« Selection type objective questions / I YhR & aﬂﬁ'g uH

59) Fishes live in water. It is their natural ____ Use the right biological term. /
woferar, Ut A @ B 1 TE SAFTUIHfad 71 SUYS WA Usg BT WA B3 |
1. Home / U}

2. Habitat / 1A

3. Environment / dTdTdUl

4. living space / & BT RIM

Correct Answer :-

« Habitat / STdATH

60) Which of the following topics clearly demonstrates the interdisciplinary

nature of science? / fRufIRad & ¥ +19 1 fawy Wy U A f(IgE &t RIS
UHid Bl g=ITa1 8?2

1. Colloids / ﬁ?‘l’\f_&r@’

2. Evolution / 3&d

3. Programming / HHTGRA @’ﬂ’lﬁ“’l}
4, Astronomy / T fa=

Correct Answer :-

« Astronomy / T fae



